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Question Numbers : (1 to 5)

Question Label : Comprehension



Read the following passage and answer the next five questions by choosing the correct
option:

Mara, a 24-year-old university student, seeks help for anxiety. She deseribes
feeling paralyzed when thinking about climate change and the future; Leon, 51 and a
father of three, requests treatment for panic attacks. They started last vear after he
and his family evacuated their home again due to wildfires; Isabel, a 16-year-old
climate activist, wants support due to ruminating about the climate erisis to the
extent that she can't focus on schoolwork.

The opening vignettes demonstrate that the climate change crisis is taking a toll
on people’s mental health. Uncertainty, unpredictability, and uncontrollability are
three fundamental characteristics of climate change. Recent reviews have shown that
the negative impacts of climate change are complex, manifest cognitively,
emotionally, and physically and affect behaviours, relationships, and overall well-
being. One such manifestation is anxiety related to the ongoing anthropogenic
climate change or ecological doom, referred to as eco-anxiety.

The condition overlaps with other mental health disorders in the form of negative,
and automatic reactions to a felt threat. However, most empirical studies on eco-
anxiety to date surveved the low-risk groups with smaller and unrepresentative
samples. Rigorous research is needed to more completely understand it, clarify its
distinet characteristics and contextual factors, and articulate its relationship with
other mental health conditions.

Experiences of eco-anxiety often include dystopian thoughts and apocalyptic
perceptions about the future, negative and sometimes intense emotions such as fear,
anger, guild, grief, and despair, as well as behavioural manifestations such as
insomnia and panic attacks. Causes and triggers of eco-anxiety vary from direct
exposure to traumatic extreme weather events like floods, hurricanes, and wildfires to
maladaptation to long-term environmental changes like land loss, water scareity, and
pollution. It can also manifest in individuals without direct experience of climate
change, simply from the awareness of the potential existential threat it presents.

Health professionals are improving ways to communicate climate concerns. Their
voices are imperative for climate change communication and transformation.
However, the urgency and complexity of ecological and climate crizsis demand an
interdisciplinary approach. Other disciplines can help advance these efforts by
providing opportunities for innovative thinking and practice, such as with a
sociological perspective regarding structures and connections in society; a political
scientific approach to tension, conflict, and social movement; and communication
strategies for patient-provider interaction, social support, community outreach, and
public engagement.

Media coverage of ecological crisis can evoke eco-anxiety. Current messages about
climate change are overwhelmingly negative, both linguistically and visually,
contributing to a sense of doom and gloom. Hope is central to humanity's survival and
flourishing. Yet some caution that hope alone is not a panacea.

Sub questions

Question Number : 1 Question Id : 92090611550 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Based on the information in the passage, it can be inferred that all of the following
statements are true EXCEPT:

{A) An interdisciplinary approach is required to facilitate communication
regarding climate change crisis.
(B)  Linguistic and visual media provokes eco-anxiety.

(C)  Eco-anxiety, its characteristics and context have been fully understood through
extensive research.

(D) The negative impacts of climate change affect behaviour, relationships and
overall well-being.

Choose the correct answer from the options given below :

(1)  (A)only
(2)  (B)only
(3 (C)only
(4)  (D)only

Options :

92090645601. 1
92090645602. 2
92090645603. 3
92090645604. 4

Question Number : 2 Question Id : 92090611551 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match the words in List I with their meanings in List [1 :

List 1 List II
(A)  Apocalyptic (I) Related to human existence
(B) Dystopian (I) Short piece of writing or
acting about a person, place
or event
(C) Existential (I111) Prophesying a disaster or

total destruction

(D) Vignettes (IV) Relationship to an imagined
society in which there is
suffering and injustice

Choose the correct answer from the options given below:

(1) (A)-(V), (B)-(I1D), (C)-(1D), (D)-(1
(2)  (A)-AID, (B)-(11), (C)-(IV), (D)-(1
(3)  (A)-ID, (B)-(IV), (C)-(D), (D)-(11

)
)
)
4y (A)-aV), (B)-(D). (O)-(1D), (D)-(IT)

).
). (
Options :
92090645605. 1
92090645606. 2

92090645607. 3
92090645608. 4

Question Number : 3 Question Id : 92090611552 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



“Hope is central to humanity's survival and flourishing. Yet some caution that hope
alone is not a panacea”.

Through the underlined segment the writer is trying to:

(1) instil fear about the seriousness of the problem of Eco-anxiety
(2)  warn that issue of Eco-anxiety can’t be taken lightly or ignored.
(3)  assure that hope will resolve the issue of Eco-anxiety.
(4)  mock the idea that hope and an optimistic approach can resolve the issue of
Eco-anxiety.
Options :
92090645609. 1
92090645610. 2
92090645611. 3
92090645612. 4

Question Number : 4 Question Id : 92090611553 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mateh List 1 with List Il to complete the information on the basis of your reading
from the passage.

List I List 1L
{A) Manifestation of the negative (I) Intense emotions like fear, grief,
impaect of elimate change anger and lusomnia

{B) Experience of Eco-anxiety includes  (1I) Exposure to extreme weather and
maladaptation to environmental

changes

{C) Triggers of Eco-anxiety (III) Uncertainty, Unpredictability,
uncontrollability

(D) Fundamental characteristies of (IV) Cognitive, emotional and physical

climate change

Choose the correct answer from the options given below:

(1) (M), (B)-(IV), (C)-(D), (D)-(11)
@ (A)-(IV), B)-(D), (C)-(ILI), (I-(1)
@ Q)-(IV), (B)-(D), (C)-(IL), (D)-(I11)
@) A)-1D, (B)-(ID, (C)-aV), (D)-(L)

Options :

92090645613. 1
92090645614. 2
92090645615. 3
92090645616. 4

Question Number : 5 Question Id : 92090611554 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Eco-anxiety can also manifest in individuals without direct experience of climate
change. This happens because of :
(1) their unstable mental health condition
(2)  they watch excessively negative media messages
(3)  they are fully aware of the potential existential treat it presents
(4)  they are poor communicators and do not share their fears with health
professionals
Options :
92090645617. 1
92090645618. 2



92090645619. 3
92090645620. 4

Question Id : 92090611549 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Read the following passage and answer the next five questions by choosing the correct
option:

Mara, a 24-year-old university student, seeks help for anxiety. She deseribes
feeling paralyzed when thinking about climate change and the future; Leon, 51 and a
father of three, requests treatment for panic attacks. They started last vear after he
and his family evacuated their home again due to wildfires; Isabel, a 16-year-old
climate activist, wants support due to ruminating about the climate erisis to the
extent that she can't focus on schoolwork.

The opening vignettes demonstrate that the climate change crisis is taking a toll
on people’s mental health. Uncertainty, unpredictability, and uncontrollability are
three fundamental characteristics of climate change. Recent reviews have shown that
the negative impacts of climate change are complex, manifest cognitively,
emotionally, and physically and affect behaviours, relationships, and overall well-
being. One such manifestation is anxiety related to the ongoing anthropogenic
climate change or ecological doom, referred to as eco-anxiety.

The condition overlaps with other mental health disorders in the form of negative,
and automatic reactions to a felt threat. However, most empirical studies on eco-
anxiety to date surveved the low-risk groups with smaller and unrepresentative
samples. Rigorous research is needed to more completely understand it, clarify its
distinet characteristics and contextual factors, and articulate its relationship with
other mental health conditions.

Experiences of eco-anxiety often include dystopian thoughts and apocalyptic
perceptions about the future, negative and sometimes intense emotions such as fear,
anger, guild, grief, and despair, as well as behavioural manifestations such as
insomnia and panic attacks. Causes and triggers of eco-anxiety vary from direct
exposure to traumatic extreme weather events like floods, hurricanes, and wildfires to
maladaptation to long-term environmental changes like land loss, water scareity, and
pollution. It can also manifest in individuals without direct experience of climate
change, simply from the awareness of the potential existential threat it presents.

Health professionals are improving ways to communicate climate concerns. Their
voices are imperative for climate change communication and transformation.
However, the urgency and complexity of ecological and climate crisis demand an
interdisciplinary approach. Other disciplines can help advance these efforts by
providing opportunities for innovative thinking and practice, such as with a
sociological perspective regarding structures and connections in society; a political
scientific approach to tension, conflict, and social movement; and communication
strategies for patient-provider interaction, social support, community outreach, and
public engagement.

Media coverage of ecological crisis can evoke eco-anxiety. Current messages about
climate change are overwhelmingly negative, both linguistically and visually,
contributing to a sense of doom and gloom. Hope is central to humanity's survival and
flourishing. Yet some caution that hope alone is not a panacea.

Sub questions

Question Number : 1 Question Id : 92090611550 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Based on the information in the passage, it can be inferred that all of the following
statements are true EXCEPT:

{A) An interdisciplinary approach is required to facilitate communication
regarding climate change crisis.
(B)  Linguistic and visual media provokes eco-anxiety.

(C)  Eco-anxiety, its characteristics and context have been fully understood through
extensive research.

(D) The negative impacts of climate change affect behaviour, relationships and
overall well-being.

Choose the correct answer from the options given below :

(1)  (A)only
(2)  (B)only
(3 (C)only
(4)  (D)only

Options :

92090645601. 1
92090645602. 2
92090645603. 3
92090645604. 4

Question Number : 2 Question Id : 92090611551 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match the words in List I with their meanings in List [1 :

List 1 List II
(A)  Apocalyptic (I) Related to human existence
(B) Dystopian (I) Short piece of writing or
acting about a person, place
or event
(C) Existential (I111) Prophesying a disaster or

total destruction

(D) Vignettes (IV) Relationship to an imagined
society in which there is
suffering and injustice

Choose the correct answer from the options given below:

(1) (A)-(V), (B)-(I1D), (C)-(1D), (D)-(1
(2)  (A)-AID, (B)-(11), (C)-(IV), (D)-(1
(3)  (A)-ID, (B)-(IV), (C)-(D), (D)-(11

)
)
)
4y (A)-aV), (B)-(D). (O)-(1D), (D)-(IT)

).
). (
Options :
92090645605. 1
92090645606. 2

92090645607. 3
92090645608. 4

Question Number : 3 Question Id : 92090611552 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



“Hope is central to humanity's survival and flourishing. Yet some caution that hope
alone is not a panacea”.

Through the underlined segment the writer is trying to:

(1) instil fear about the seriousness of the problem of Eco-anxiety
(2)  warn that issue of Eco-anxiety can’t be taken lightly or ignored.
(3)  assure that hope will resolve the issue of Eco-anxiety.
(4)  mock the idea that hope and an optimistic approach can resolve the issue of
Eco-anxiety.
Options :
92090645609. 1
92090645610. 2
92090645611. 3
92090645612. 4

Question Number : 4 Question Id : 92090611553 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mateh List 1 with List Il to complete the information on the basis of your reading
from the passage.

List I List 1L
{A) Manifestation of the negative (I) Intense emotions like fear, grief,
impaect of elimate change anger and lusomnia

{B) Experience of Eco-anxiety includes  (1I) Exposure to extreme weather and
maladaptation to environmental

changes

{C) Triggers of Eco-anxiety (III) Uncertainty, Unpredictability,
uncontrollability

(D) Fundamental characteristies of (IV) Cognitive, emotional and physical

climate change

Choose the correct answer from the options given below:

(1) (M), (B)-(IV), (C)-(D), (D)-(11)
@ (A)-(IV), B)-(D), (C)-(ILI), (I-(1)
@ Q)-(IV), (B)-(D), (C)-(IL), (D)-(I11)
@) A)-1D, (B)-(ID, (C)-aV), (D)-(L)

Options :

92090645613. 1
92090645614. 2
92090645615. 3
92090645616. 4

Question Number : 5 Question Id : 92090611554 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Eco-anxiety can also manifest in individuals without direct experience of climate
change. This happens because of :
(1) their unstable mental health condition
(2)  they watch excessively negative media messages
(3)  they are fully aware of the potential existential treat it presents
(4)  they are poor communicators and do not share their fears with health
professionals
Options :
92090645617. 1
92090645618. 2



92090645619. 3
92090645620. 4

Question Id : 92090611549 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Read the following passage and answer the next five questions by choosing the correct
option:

Mara, a 24-year-old university student, seeks help for anxiety. She deseribes
feeling paralyzed when thinking about climate change and the future; Leon, 51 and a
father of three, requests treatment for panic attacks. They started last vear after he
and his family evacuated their home again due to wildfires; Isabel, a 16-year-old
climate activist, wants support due to ruminating about the climate erisis to the
extent that she can't focus on schoolwork.

The opening vignettes demonstrate that the climate change crisis is taking a toll
on people’s mental health. Uncertainty, unpredictability, and uncontrollability are
three fundamental characteristics of climate change. Recent reviews have shown that
the negative impacts of climate change are complex, manifest cognitively,
emotionally, and physically and affect behaviours, relationships, and overall well-
being. One such manifestation is anxiety related to the ongoing anthropogenic
climate change or ecological doom, referred to as eco-anxiety.

The condition overlaps with other mental health disorders in the form of negative,
and automatic reactions to a felt threat. However, most empirical studies on eco-
anxiety to date surveved the low-risk groups with smaller and unrepresentative
samples. Rigorous research is needed to more completely understand it, clarify its
distinet characteristics and contextual factors, and articulate its relationship with
other mental health conditions.

Experiences of eco-anxiety often include dystopian thoughts and apocalyptic
perceptions about the future, negative and sometimes intense emotions such as fear,
anger, guild, grief, and despair, as well as behavioural manifestations such as
insomnia and panic attacks. Causes and triggers of eco-anxiety vary from direct
exposure to traumatic extreme weather events like floods, hurricanes, and wildfires to
maladaptation to long-term environmental changes like land loss, water scareity, and
pollution. It can also manifest in individuals without direct experience of climate
change, simply from the awareness of the potential existential threat it presents.

Health professionals are improving ways to communicate climate concerns. Their
voices are imperative for climate change communication and transformation.
However, the urgency and complexity of ecological and climate crisis demand an
interdisciplinary approach. Other disciplines can help advance these efforts by
providing opportunities for innovative thinking and practice, such as with a
sociological perspective regarding structures and connections in society; a political
scientific approach to tension, conflict, and social movement; and communication
strategies for patient-provider interaction, social support, community outreach, and
public engagement.

Media coverage of ecological crisis can evoke eco-anxiety. Current messages about
climate change are overwhelmingly negative, both linguistically and visually,
contributing to a sense of doom and gloom. Hope is central to humanity's survival and
flourishing. Yet some caution that hope alone is not a panacea.

Sub questions

Question Number : 1 Question Id : 92090611550 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Based on the information in the passage, it can be inferred that all of the following
statements are true EXCEPT:

{A) An interdisciplinary approach is required to facilitate communication
regarding climate change crisis.
(B)  Linguistic and visual media provokes eco-anxiety.

(C)  Eco-anxiety, its characteristics and context have been fully understood through
extensive research.

(D) The negative impacts of climate change affect behaviour, relationships and
overall well-being.

Choose the correct answer from the options given below :

(1)  (A)only
(2)  (B)only
(3 (C)only
(4)  (D)only

Options :

92090645601. 1
92090645602. 2
92090645603. 3
92090645604. 4

Question Number : 2 Question Id : 92090611551 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match the words in List I with their meanings in List [1 :

List 1 List II
(A)  Apocalyptic (I) Related to human existence
(B) Dystopian (I) Short piece of writing or
acting about a person, place
or event
(C) Existential (I111) Prophesying a disaster or

total destruction

(D) Vignettes (IV) Relationship to an imagined
society in which there is
suffering and injustice

Choose the correct answer from the options given below:

(1) (A)-(V), (B)-(I1D), (C)-(1D), (D)-(1
(2)  (A)-AID, (B)-(11), (C)-(IV), (D)-(1
(3)  (A)-ID, (B)-(IV), (C)-(D), (D)-(11

)
)
)
4y (A)-aV), (B)-(D). (O)-(1D), (D)-(IT)

).
). (
Options :
92090645605. 1
92090645606. 2

92090645607. 3
92090645608. 4

Question Number : 3 Question Id : 92090611552 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



“Hope is central to humanity's survival and flourishing. Yet some caution that hope
alone is not a panacea”.

Through the underlined segment the writer is trying to:

(1) instil fear about the seriousness of the problem of Eco-anxiety
(2)  warn that issue of Eco-anxiety can’t be taken lightly or ignored.
(3)  assure that hope will resolve the issue of Eco-anxiety.
(4)  mock the idea that hope and an optimistic approach can resolve the issue of
Eco-anxiety.
Options :
92090645609. 1
92090645610. 2
92090645611. 3
92090645612. 4

Question Number : 4 Question Id : 92090611553 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mateh List 1 with List Il to complete the information on the basis of your reading
from the passage.

List I List 1L
{A) Manifestation of the negative (I) Intense emotions like fear, grief,
impaect of elimate change anger and lusomnia

{B) Experience of Eco-anxiety includes  (1I) Exposure to extreme weather and
maladaptation to environmental

changes

{C) Triggers of Eco-anxiety (III) Uncertainty, Unpredictability,
uncontrollability

(D) Fundamental characteristies of (IV) Cognitive, emotional and physical

climate change

Choose the correct answer from the options given below:

(1) (M), (B)-(IV), (C)-(D), (D)-(11)
@ (A)-(IV), B)-(D), (C)-(ILI), (I-(1)
@ Q)-(IV), (B)-(D), (C)-(IL), (D)-(I11)
@) A)-1D, (B)-(ID, (C)-aV), (D)-(L)

Options :

92090645613. 1
92090645614. 2
92090645615. 3
92090645616. 4

Question Number : 5 Question Id : 92090611554 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Eco-anxiety can also manifest in individuals without direct experience of climate
change. This happens because of :
(1) their unstable mental health condition
(2)  they watch excessively negative media messages
(3)  they are fully aware of the potential existential treat it presents
(4)  they are poor communicators and do not share their fears with health
professionals
Options :
92090645617. 1
92090645618. 2



92090645619. 3
92090645620. 4

Sub-Section Number : 2
Sub-Section Id : 920906381
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090611555 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Matech the blanks in List I with the appropriate phrasal verb in List II :

List 1 List I1

(A) Students usually speak (1) fell-out
French during elass by
occasionally English.

(B) The English professor (I} lapse into
wanted to __  the

importance of additional
reading to his students

{C) Capital punishment (I1I) done away with
was___ several vears ago
in Britain.

(D) 1 with my brother (IV) drive home
over a trifle.

Choose the correct answer from the options given below:

(1) (M), (B)-(1D), (C)-(D). (D)-AV)
(2 A)-1D). (B)-aV), (C)-(1), (D)-(1LD)
(3) (A, (B)-(IV), (C)-(11), (D)-(LLT)
(4 (A)-(1D, (B)-(IV), (C)-(11D), (D)-(L}

Options :

92090645621. 1
92090645622. 2
92090645623. 3
92090645624. 4

Question Number : 6 Question Id : 92090611555 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match the blanks in List | with the appropriate phrasal verb in List 11 :

List 1 List I1

{A) Students wusually speak () fell-out
French during class by

occasionally English.
(B) The English professor (II) lapse into
wanted to _ the

importance of additional
reading to his students

{C) Capital punishment ([} done away with
was___ several years ago
in Britain.

(D) I with my brother (IV) drive home
over a trifle.

Choose the correct answer from the options given below:

(1) (A, (B)-(1D), (O)-(1), (D)-(IV)
(2) (A, (B)-(IV), (C)-(1), (D)-(LL1)
(3 M-, (B)-(IV), (C)-(11), (D)-(1LT)
@ (A1), (B)-(V), (C)-(111), (D)-(D)

Options :

92090645621. 1
92090645622. 2
92090645623. 3
92090645624. 4

Question Number : 6 Question Id : 92090611555 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match the blanks in List I with the appropriate phrasal verb in List I1 :

List 1 List I1

(A) Students usually speak () fell-out
French during class by

occasionally English.
(B) The English professor (1) lapse into
wanted to _ the

importance of additional
reading to his students

{C) Capital punishment ([} done away with
was___ several years ago
in Britain.

Dy I with my brother (IV) drive home
over a trifle.

Choose the correct answer from the options given below:

(1) (A)-(D, (B)-(1D), (O)-(1), (D)-(AV)
(2) (A1), (B)-(IV). (C)-(I), (D)-(1LL)
(3 (A=, (B)-(IV), (C)-(11), (D)-(1LT)
@) (A1), (B)-(AV), (C)-(111), (D)-(D)

Options :

92090645621. 1
92090645622. 2
92090645623. 3
92090645624. 4



Question Number : 7 Question Id : 92090611556 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correctly spelt word from the given options is:-

(1) IDEOSYNCRASY (2) IDEOSINCRASY
(3) IDIOSYNCRASY (4) IDADOSYNCRASY
Options :

92090645625. 1
92090645626. 2
92090645627. 3
92090645628. 4

Question Number : 7 Question Id : 92090611556 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correctly spelt word from the given options is:-

(1) [IDEOSYNCRASY (2) IDEOSINCRASY
(3) IDIOSYNCRASY (4) IDAOOSYNCRASY
Options :

92090645625. 1
92090645626. 2
92090645627. 3
92090645628. 4

Question Number : 7 Question Id : 92090611556 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correctly spelt word from the given options is:-

(1) IDEOSYNCRASY (2) IDEOSINCRASY
(3 IDIOSYNCRASY (4) IDADOSYNCRASY
Options :

92090645625. 1
92090645626. 2
92090645627. 3
92090645628. 4

Question Number : 8 Question Id : 92090611557 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions from the options given below:

ED had filed the fifth chargesheet _ the case _ May 4 and named Sisodia ___ an
accused __ a case concerning irregularities in the excise policy for the first time.

(1) in, on, as, in (2) 1in, with, as, in
(3 in, on, with, for (4) 1in, on, in, as
Options :

92090645629. 1
92090645630. 2
92090645631. 3
92090645632. 4



Question Number : 8 Question Id : 92090611557 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions from the options given below:

ED had filed the fifth chargesheet ___ the case __ May 4 and named Sisodia ___ an
accused __ a case concerning irregularities in the excise policy for the first time.

(1) in, on, as, in (2) in, with, as, in
(3 in, on, with, for (4) 1in, on, in, as
Options :

92090645629. 1
92090645630. 2
92090645631. 3
92090645632. 4

Question Number : 8 Question Id : 92090611557 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fill in the blanks with appropriate prepositions from the options given below:

ED had filed the fifth chargesheet ___ the case __ May 4 and named Sisodia ___ an
accused __ a case concerning irregularities in the excise policy for the first time.

(1) in, on, as, in (2} in, with, as, in

(3 in, on, with, for (4) 1in, on, in, as

Options :

92090645629.
92090645630.
92090645631.
92090645632.

AW N =

Question Number : 9 Question Id : 92090611558 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An admirably stylish manner of doing things effortlessly:

(1) Pariah (2) Panache
(3) Perjury {4) Petrology
Options :

92090645633. 1
92090645634. 2
92090645635. 3
92090645636. 4

Question Number : 9 Question Id : 92090611558 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An admirably stylish manner of doing things effortlessly:

(1) Pariah (2) Panache
(3) Perjury (4) Petrology
Options :

92090645633. 1
92090645634. 2
92090645635. 3



92090645636. 4

Question Number : 9 Question Id : 92090611558 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An admirably stylish manner of doing things effortlessly:

(1) Pariah (2) Panache
(3) Perjury (4) Petrology
Options :

92090645633. 1
92090645634. 2
92090645635. 3
92090645636. 4

Question Number : 10 Question Id : 92090611559 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Synonym of the word "TRAIT is :

(1) Symbol (2) Characteristic
(3) Colour (4) Habit
Options :

92090645637. 1
92090645638. 2
92090645639. 3
92090645640. 4

Question Number : 10 Question Id : 92090611559 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Synonym of the word ‘TRAIT is :

(1) Symbol (2) Characteristic
(3) Colour (4) Habit
Options :

92090645637. 1
92090645638. 2
92090645639. 3
92090645640. 4

Question Number : 10 Question Id : 92090611559 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Synonym of the word "TRAIT is :

(1) Symbaol (2) Characteristic
(3) Colour (4) Habit
Options :

92090645637. 1
92090645638. 2
92090645639. 3



92090645640. 4

Question Number : 11 Question Id : 92090611560 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If cos B :£ . then find the value of cot 8:

J

a3
| n

(1) (2)

]
Lh

(58]

2

3 = 4)
(3) 5 (4)

th | on

Options :

92090645641. 1
92090645642. 2
92090645643. 3
92090645644. 4

Question Number : 11 Question Id : 92090611560 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If cos B :‘]3_[] . then find the value of cot 8:

3
| o

(1)

J

(2)

— kD
Lh
=

2

(3 = 4)
) 3 (4)

Lh o

Options :

92090645641. 1
92090645642. 2
92090645643. 3
92090645644. 4

Question Number : 11 Question Id : 92090611560 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If cos B =% . then find the value of cot 8:
12 5
(1) 2—5- (2) E
. 12 f
(3) 35 (4) 5
Options :

92090645641. 1
92090645642. 2
92090645643. 3
92090645644. 4

Question Number : 12 Question Id : 92090611561 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A journey takes 35 minutes while moving with a speed of 32 km/h. How long would
the journey take (in minutes) moving at a speed of 40 km/h?

(1) 28 (2) 24
(3) 30 4) 33
Options :

92090645645. 1
92090645646. 2
92090645647. 3
92090645648. 4

Question Number : 12 Question Id : 92090611561 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A journey takes 35 minutes while moving with a speed of 32 km/h. How long would
the journey take (in minutes) moving at a speed of 40 km/h?

(1) 28 (2) 24
(3) 30 (4) 33
Options :

92090645645. 1
92090645646. 2
92090645647. 3
92090645648. 4

Question Number : 12 Question Id : 92090611561 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A journey takes 35 minutes while moving with a speed of 32 km/h. How long would
the journey take (in minutes) moving at a speed of 40 km/h?

(1) 28 2y 24
(3) 30 (4) 33
Options :

92090645645. 1
92090645646. 2
92090645647. 3
92090645648. 4

Question Number : 13 Question Id : 92090611562 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ananya bought a shirt marked for ¥ 1,000 and paid ¥ 714 after availing two
successive discounts of 15% and x%. Find the value of x.

(1) 12.5 (2) 18
(3) 16 (4 20
Options :

92090645649. 1
92090645650. 2
92090645651. 3
92090645652. 4

Question Number : 13 Question Id : 92090611562 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ananya bought a shirt marked for ¥ 1,000 and paid ¥ 714 after availing two
successive discounts of 15% and x%. Find the value of x.

(1) 12.5 (2) 18
(3) 16 (4 20
Options :

92090645649. 1
92090645650. 2
92090645651. 3
92090645652. 4

Question Number : 13 Question Id : 92090611562 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ananya bought a shirt marked for ¥ 1,000 and paid ¥ 714 after availing two
successive discounts of 15% and x%. Find the value of x.

(1) 12.5 (2) 18
(3) 16 (4) 20
Options :

92090645649. 1
92090645650. 2
92090645651. 3
92090645652. 4

Question Number : 14 Question Id : 92090611563 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A cone of height at 24 em and base radius 6 em is made of modelling clay. A child
reshapes it in the form of a sphere. The radius of the sphere is:

(1) 1em (2) 2ecm
(3) 6 em {4) Secm
Options :

92090645653. 1
92090645654. 2
92090645655. 3
92090645656. 4

Question Number : 14 Question Id : 92090611563 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A cone of height at 24 em and base radius 6 cm is made of modelling clay. A child
reshapes it in the form of a sphere. The radius of the sphere is:

(1) 1lem {(2) Z2em
(3) 6 cm (4) 8cm
Options :

92090645653. 1
92090645654. 2
92090645655. 3
92090645656. 4

Question Number : 14 Question Id : 92090611563 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A cone of height at 24 em and base radius 6 cm is made of modelling clay. A child
reshapes it in the form of a sphere. The radius of the sphere is:

(1) 1em (2) 2em
(3) 6 em {4) Sem
Options :

92090645653. 1
92090645654. 2
92090645655. 3
92090645656. 4

Question Number : 15 Question Id : 92090611564 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A sum of ¥ 7,700 is lent on simple interest in two parts in such a way that the interest
on the first part at 20% p.a. for 5 years is equal to the interest on the other part at 9%
p.a. for 6 years. Find the smaller part of the sums lent in two parts.

(1) T 2.400 (2) T 5000
(3) % 5,300 (4) 2,700
Options :

92090645657. 1
92090645658. 2
92090645659. 3
92090645660. 4

Question Number : 15 Question Id : 92090611564 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A sum of ¥ 7,700 is lent on simple interest in two parts in such a way that the interest
on the first part at 20% p.a. for 5 years is equal to the interest on the other part at 9%
p.a. for 6 years. Find the smaller part of the sums lent in two parts.

(1) T 2,400 (2) T 5,000
(3) % 5,300 (4) 22,700
Options :

92090645657. 1
92090645658. 2
92090645659. 3
92090645660. 4

Question Number : 15 Question Id : 92090611564 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A sum of 7,700 is lent on simple interest in two parts in such a way that the interest
on the first part at 20% p.a. for 5 years is equal to the interest on the other part at 9%
p.a. for 6 years. Find the smaller part of the sums lent in two parts.

(1) 2 2,400 (2) % 5,000
(3) % 5,300 (4) 2700
Options :

92090645657. 1
92090645658. 2
92090645659. 3
92090645660. 4



Question Number : 16 Question Id : 92090611565 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which interchange of signs in the equation which when made will make the equation
correct.

20 +20+=20-20>20=20

(1) + and = (2) +and-—
(3 + and x {4) > and=
Options :

92090645661. 1
92090645662. 2
92090645663. 3
92090645664. 4

Question Number : 16 Question Id : 92090611565 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which interchange of signs in the equation which when made will make the equation
correct.

20 +20+=20-20>20=20

(1) + and = (2) +and-—
(3 + and x {4) > and=
Options :

92090645661. 1
92090645662. 2
92090645663. 3
92090645664. 4

Question Number : 16 Question Id : 92090611565 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which interchange of signs in the equation which when made will make the equation
correct.

20 +20+=20-20>20=20

(1) + and = (2) +and-—
(3 + and x {4) > and=
Options :

92090645661. 1
92090645662. 2
92090645663. 3
92090645664. 4

Question Number : 17 Question Id : 92090611566 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which value can come at place of ?, which will give same relationship on the left and
right side of :: ?

5369 : 4258 :: 9RTH : 7
(1) 8763 (2) 8764
(3) 7764 (4) 7763



Options :

92090645665. 1
92090645666. 2
92090645667 3
92090645668. 4

Question Number : 17 Question Id : 92090611566 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which value can come at place of ?, which will give same relationship on the left and
right side of :: ?

5369 @ 4258 :: 9875 : ?

(1) 8763 (2) 8764
(3) 7764 (4) 7763
Options :

92090645665. 1
92090645666. 2
92090645667. 3
92090645668. 4

Question Number : 17 Question Id : 92090611566 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which value can come at place of ?, which will give same relationship on the left and
right side of :: 7

5369 : 4258 :: 9BTH : 7

(1) 8763 (2) 8764
(3) 7764 (4) 7763
Options :

92090645665. 1
92090645666. 2
92090645667. 3
92090645668. 4

Question Number : 18 Question Id : 92090611567 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Milind said to Monu, “That boy playing is the younger of two brothers of the daughter
ol my Father's wife”. How 15 the boy who 12 playing 12 related to Mihnd:

(1) Brother (2) Brother-in-law
(3) Son (4) Cousin
Options :

92090645669. 1
92090645670. 2
92090645671. 3
92090645672. 4

Question Number : 18 Question Id : 92090611567 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Milind said to Monu, “That boy playing is the vounger of two brothers of the daughter
ol my father's wife”. How 12 the boy who 12 playing 12 related to Mihnd:

(1) Brother (2) Brother-in-law
(3 Son (4) Cousin
Options :

92090645669. 1
92090645670. 2
92090645671. 3
92090645672. 4

Question Number : 18 Question Id : 92090611567 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Milind said to Monu, “That boy playing is the vounger of two brothers of the daughter
ol my Father's wife”. How 12 the buy who 12 playing 12 related to Mihnd:

(1) Brother (2) Brother-in-law
(3 Son (4) Cousin
Options :

92090645669. 1
92090645670. 2
92090645671. 3
92090645672. 4

Question Number : 19 Question Id : 92090611568 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the statement and decide which of the assumption is implicit in the

statement:

Statement : A physics teacher in the class announced to keep a copy of
“Principles of physics” written by Haliday Resnick.

Assumptions:

(I} Every student can afford to buy the book.

(II) The book is well-written

(1)  If only assumption | is implicit
(2)  If only assumption 11 is implicit
(3) If neither I nor 11 is implicit
(4)  If both assumption [ and 11 are implicit
Options :
92090645673. 1
92090645674 2
92090645675. 3
92090645676. 4

Question Number : 19 Question Id : 92090611568 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider the statement and decide which of the assumption is implicit in the

statement:

Statement : A physics teacher in the class announced to keep a copy of
“Principles of physics” written by Haliday Resnick.

Assumptions:

(I} Every student can afford to buy the book.

(II) The book is well-written

(1)  If only assumption | is implicit
(2) If only assumption I is implicit
(3) If neither I nor 11 is implicit
(4)  If both assumption [ and 1l are implicit
Options :
92090645673. 1
92090645674. 2
92090645675. 3
92090645676. 4

Question Number : 19 Question Id : 92090611568 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the statement and decide which of the assumption is implicit in the

statement:

Statement : A physics teacher in the class announced to keep a copy of
“Principles of physics” written by Haliday Resnick.

Assumptions:

{I) Every student can afford to buy the book.

(I1) The book is well-written

(1)  If only assumption | is implicit
(2)  If only assumption Il is implicit
(3) If neither I nor 11 is implicit
(4)  If both assumption [ and Il are implicit
Options :
92090645673. 1
92090645674 2
92090645675. 3
92090645676. 4

Question Number : 20 Question Id : 92090611569 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which conclusion would follow on the basis of given statements:

Statements : (A) All pens are chalks.
(B) All chairs are chalks.

Conclusions : (I) Some pens are chairs.

(I) Some chalks are pens.

If conelusion (I) follows
(2)  If conclusion (1) follows
(3) If either conclusion (I) or (1I) follows

(4) Both conelusion (1) and (11} follows

Options :

92090645677. 1
92090645678. 2
92090645679. 3
92090645680. 4

Question Number : 20 Question Id : 92090611569 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which conelusion would follow on the basis of given statements:

Statements ¢ (A) All pens are chalks.
(B} All chairs are chalks.

Conclusions : (I) Some pens are chairs.

(II) Some chalks are pens.

If conelusion (I) follows
(2) If conelusion (1) follows
(3) If either conelusion (I) or (1I) follows

(4) Both conelusion (1) and (II) follows

Options :

92090645677. 1
92090645678. 2
92090645679. 3
92090645680. 4

Question Number : 20 Question Id : 92090611569 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which conelusion would follow on the basis of given statements:

Statements ¢ (A) All pens are chalks.
(B) All chairs are chalks.

Conclusions : (I) Some pens are chairs,

(I) Some chalks are pens.

If conelusion (1) follows
(2) If conclusion (11) follows
(3) If either conclusion (I) or (II) follows

(4) Both conelusion (1) and (11} follows

Options :



92090645677. 1
92090645678. 2
92090645679. 3
92090645680. 4

Question Number : 21 Question Id : 92090611570 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which feature acts as a watershed between the Indus and Gangetic river basins?

(1) Aravalli Ridge (2) Shivalik Hills
(3)  Vindhyan Range (4) Satpura Hills
Options :

92090645681. 1
92090645682. 2
92090645683. 3
92090645684. 4

Question Number : 21 Question Id : 92090611570 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which feature acts as a watershed between the Indus and Gangetic river basins?

(1) Aravalli Ridge (2) Shivalik Hills
(3)  Vindhyan Range (4) Satpura Hills
Options :

92090645681. 1
92090645682. 2
92090645683. 3
92090645684. 4

Question Number : 21 Question Id : 92090611570 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which feature acts as a watershed between the Indus and Gangetic river basins?

(1) Aravalli Ridge (2) Shivalik Hills
(3)  Vindhyan Range (4) Satpura Hills
Options :

92090645681. 1
92090645682. 2
92090645683. 3
92090645684. 4

Question Number : 22 Question Id : 92090611571 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II :

List I List 11
(Name of committee) (Various sector of India
Economy)
{A) Bimal Jalan Committee (I} Corporate Governance

(By Birla Committee (II) Improving national
highways in India

(C)y SR Harhim Committee (III) Urban poverty

(D) Chaturvedi (IV) Market infrastructure
Instruments

Choose the correct answer from the options given below:

(1) (A1, (B)-(I1D), (C)-(1V), (D)-(L)
(2) (-, (B)-(IV), (C)-(LID), (D)-(1T)
(3)  (A-IV), (B)-(D), (C)-(1L1), (D)-(L1)
(4 (A)-IV), (B)-(D), (C)-(11), (D)-(1LT)

Options :

92090645685. 1
92090645686. 2
92090645687. 3
92090645688. 4

Question Number : 22 Question Id : 92090611571 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List | with List 11 :

List [ List 11
(Name of committee) (Various sector of India
Economy)
(A) Bimal Jalan Committee (I} Corporate Governance

(B) Birla Committee (II} Improving national
highways in India

(C) SR Harhim Committee (111} Urban poverty

() Chaturvedi (IV) Market infrastructure
Instruments

Choose the correct answer from the options given helow:

(1) (A1), (B)-(1LL), (C)-(1V), (D)-(I)
(2) (A1), (B)-(IV), (C)-(111), (D)-(LL)
(3)  (A)-AV), (B)-(D), (C)-(1ID), (D)-(1D)
(4 (A)-IV), (B)-(D), (C)-(11), (D)-(1LD)

Options :

92090645685. 1
92090645686. 2
92090645687. 3
92090645688. 4

Question Number : 22 Question Id : 92090611571 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Matech List [ with List 11 :

List I List 11
(Name of committee) (Various sector of India
Economy)
(A) Bimal Jalan Committee (I} Corporate Governance

(By Birla Committee (II) Improving national
highways in India

(C)y SR Harhim Committee (L1I) Urban poverty

(D) Chaturvedi (IV) Market infrastructure
Instruments

Choose the correct answer from the options given below:

(1) (A)-(1D), (B)-(11D), (C)-(IV), (D)-(I)
(2) (-, (B)-(IV), (C)-(LID), (D)-(1T)
(3)  (A)-(IV), (B)-(L), (C)-(111), (D)-(LL)
(4)  (A)-(IV). (B)-(I), (C)-(LD), (D)-(111)

Options :

92090645685. 1
92090645686. 2
92090645687. 3
92090645688. 4

Question Number : 23 Question Id : 92090611572 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Digi Yatra’ facility has been implemented at in the country.

(1) Railway station (2) Airport
(3 Inter State Bus Terminal(ISBT) (4) Port

Options :

92090645689. 1
92090645690. 2
92090645691. 3
92090645692. 4

Question Number : 23 Question Id : 92090611572 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Digi Yatra' facility has been implemented at in the country.

(1) Railway station (2) Airport
(3) Inter State Bus Terminal(ISBT) (4) Port

Options :

92090645689. 1
92090645690. 2
92090645691. 3
92090645692. 4

Question Number : 23 Question Id : 92090611572 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



‘Digi Yatra' facility has been implemented at in the country.

(1) Railway station (2) Airport
(3 Inter State Bus Terminal(ISBT)  (4) Port

Options :

92090645689. 1
92090645690. 2
92090645691. 3
92090645692. 4

Question Number : 24 Question Id : 92090611573 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | + Gross Domestic product (GDP) is the final value of the goods and
services produced within the geographical boundaries of a country
during a year.

Statement I :  Net Domestic Product (NDP) equals to the GDP plus depreciation
(value loss of an asset) on country capital goods

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both Statement [ and Statement Il are correct
(2)  Both Statement | and Statement 11 are incorrect
(8] Statement [ is correct but Statement 11 is incorrect
(4) Statement [ is incorrect but Statement I is correct
Options :
92090645693. 1
92090645694. 2

92090645695. 3
92090645696. 4

Question Number : 24 Question Id : 92090611573 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 ¢ Gross Domestic product (GDP) is the final value of the goods and
services produced within the geographical boundaries of a country
during a year.

Statement [ : Net Domestic Product (NDP) equals to the GDP plus depreciation
(value loss of an asset) on country capital goods

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both Statement [ and Statement Il are correct

(2) Both Statement | and Statement Il are incorrect

(8] Statement [ is correct but Statement 11 is incorrect

(4) Statement [ is incorrect but Statement 11 is correct

Options :



92090645693. 1
92090645694 2
92090645695. 3
92090645696. 4

Question Number : 24 Question Id : 92090611573 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fiven below are two statements :

Statement [ : Gross Domestic product (GDP) is the final value of the goods and
services produced within the geographieal boundaries of a country
during a year.

Statement I @ Net Domestic Product (NDP) equals to the GDP plus depreciation
(value loss of an asset) on country capital goods

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both Statement [ and Statement 11 are correct
(2) Both Statement [ and Statement 11 are incorrect
(3)  Statement | is correct but Statement I1 is incorrect
(4) Statement [ is incorrect but Statement Il is correct
Options :
92090645693. 1
92090645694. 2

92090645695. 3
92090645696. 4

Question Number : 25 Question Id : 92090611574 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ‘GEM’ portal of Government of India deals with

(1) Public Procurement (2) Distance learning
(3) Tele medicine {4) Aadhar based digital signature
Options :

92090645697. 1
92090645698. 2
92090645699. 3
92090645700. 4

Question Number : 25 Question Id : 92090611574 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ‘GEM’ portal of Government of India deals with

(1) Public Procurement (2) Distance learning
(3) Tele medicine {4) Aadhar based digital signature
Options :

92090645697. 1
92090645698. 2
92090645699. 3



92090645700. 4

Question Number : 25 Question Id : 92090611574 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ‘GEM’ portal of Government of India deals with

(1)  Public Procurement (2) Distance learning
(3) Tele medicine (4) Aadhar based digital signature
Options :

92090645697. 1
92090645698. 2
92090645699. 3
92090645700. 4

Part B: Manipuri

Section Id : 920906230
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906382
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090611575 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RAON SCOFE RIPIOMDN, k3 BESANT P THAINCT A%8 ITTaT TOMT TEABRIN TOrPKEAM —
1. 2er kAown Jus mef
2. Wy BEEWT oot
3. @e3 Cemeofomt kel

4. nAm mA'Om Jus ket
ST (TG TR S0 STwaN (a7 83971 2 farefz S giewa sioeraaf —

1. CETIwelT SOl (et ST
2. WS wEA e

3. Coi@e el war
4. QT O (ol WS



Options :

92090645701. 1
92090645702. 2
92090645703. 3
92090645704. 4

Question Number : 26 Question Id : 92090611575 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
RAON SCOFE RIPIOMDN kI BESANT P THAMNCT %8 ITTaT TOMMT TEABRN TOPHKSAM —

1. 2@Er kAOm 23 maf
2. W BEEWF ooyt
3. T@EeI Cemeofomt kel

4. nAM mAOM Jus ket
ST (TG TR S0 STwaN (a7 83971 2 farefz S giewa sioeraaf —

1. CETIIT ST et ST
2. WS wEA e

3. CoFa esffEed x=
4. QAN ACN T HA

Options :

92090645701. 1
92090645702. 2
92090645703. 3
92090645704. 4

Question Number : 26 Question Id : 92090611575 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



RAON SCOFE RIPIOIDNT k3 BESANT P THAMNC %8 ITTaf TOMMT EABRN TOrKSAM —

1. 2@Er kAOM 2Ts kel
2. Y sEEmf omywt
3. @eI Cemeofomnt kel

4. AWM REAROWN JUF kel
TR CTGTa] TR O SN (2T S 23711 2T ez S gi2ma S —

1. CETIwelT ORI (ot St
2. WS oEN A

3. coiEe esfmA W
4. QCZAN ACAN T WA

Options :

92090645701. 1
92090645702. 2
92090645703. 3
92090645704. 4

Question Number : 27 Question Id : 92090611576 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘ORI 7% T ‘REF Oaen BRIsar —

. RATHEE FEAR
2. COIFBRF qafsfarce
3. ZmzF BEIRfOm

4. dzHERe TZTOC
“STRYT R2 TP A CHTa B -

1. T ST
2. (ETRArEY Sk
3. Qieww SEifeE

4. FAGFAF $IHI

Options :

92090645705. 1
92090645706. 2
92090645707. 3



92090645708. 4

Question Number : 27 Question Id : 92090611576 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘RORI 75K THROD REF O@°D FRIFal —
. RESHBRE KEFAR
2. COPFIF Qafsface
3. imezr BFRmMom

4. dzmme NZEOC

“S12YeT 22 FAL WA ¢ 3T -

1. ST SCAB1
2. (AleTArEY SAcE
3. 2ieww sEfeE

4. IAGEIRF TIHI

Options :

92090645705. 1
92090645706. 2
92090645707. 3
92090645708. 4

Question Number : 27 Question Id : 92090611576 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



‘RORI 75K THROD REF O°D FRIFAl —

. RAESFEE FEAR
2. CUIFBF qafsfaree
3. ZmzE BEIRfOm

4. dzHRe TZTOC
‘SRS 28 WL T (AL 3w -

1. TR ST
2. (TR Sk
3. Qieww SEifeE

4. G TIAI

Options :

92090645705. 1
92090645706. 2
92090645707. 3
92090645708. 4

Question Number : 28 Question Id : 92090611577 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W3 ERBOIINE REFC BCTE N; OBGRR TRAT R%I BORIE XA K RO S5l —

1. <¢8%, 9€82, €87
2. 882, SE8G., SE8F
3. 9982, SE4F, €S

4. <g8¢, 9€82, SERG

14 Y3 BT FIT 1, TITNGT S et CFhe 1 b2 WAe srefit —

1. 5339, 3538, 93¢
2. 3538, 5539, da3¢
3. 3538, 553¢, 3539

4. 3DIC, S8, do9

Options :
92090645709. 1



92090645710. 2
92090645711. 3
92090645712. 4

Question Number : 28 Question Id : 92090611577 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W3 ERROTME REFC BTTE N; OBPER TRAT RRI BORIE XA KD K96 —

1. sgas, S€82, SE8F
2. 9§82, 9886, SEAF
3. 9§82, 9987, SERGm

4. 9$89, 9882, SERG

13 YIBAITN GISIT FEAET 31, Q1T ST 4T (el 531 W2 wrefit —

1. 5539, 5538, o3¢
2. 3538, 5539, d53¢
3. 3538, 553, 3530

4. D53G, Y538, Y530

Options :

92090645709. 1
92090645710. 2
92090645711. 3
92090645712. 4

Question Number : 28 Question Id : 92090611577 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



W3 ERBOIINE REFC BCTE N; OBGRR TRAT R%I BORIE XA K RO S5l —

1. <¢8%, 9€82, €87
2. 882, SE8G., SE8F
3. 9982, SE4F, TERG

4. 98¢, 9882, €0

4 Y3 SIS FIT 91, TITH6T S et e b3 WAe F=refit —

1. 5339, 3538, 93¢
2. 3538, 5539, dy3¢
3. 3538, 553¢, 3539

4. SDIC, S8, do9

Options :

92090645709. 1
92090645710. 2
92090645711. 3
92090645712. 4

Question Number : 29 Question Id : 92090611578 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“I'g RRABKR 2T BRfEaf CW*h FhEIC!, BPTATE SF 7°IATEO kel I TC EAKH COOMRTE TNFOf RATCr”
ARESFERT -

1. TODSK RITH BT
2. CTOTABF OaT3feeT
3. wedmsn vfeHe

4. zf. ®f. »Ozg

“&q YI30 =1 (SR ST SR, (FTARFRAA! o7 (Zeraw=o] Alfel| &1 4150w e 3541 w2ifze g -

1. SE1I JHCEe
2. (IR AAcaT
3. (eI AT
4. f&. B corg

Options :



92090645713. 1
92090645714. 2
92090645715. 3
92090645716. 4

Question Number : 29 Question Id : 92090611578 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“T3 WA SC FRizal TF SRS T, B°TTATS SF A°IACEQ kel UC ERBH COOrR'E THfof kAre!”
ARAFERT -

1. wODSF RfTHE BT

2. TOTHBF Qaf3feeT

3. we2msH CieHT

4. zf. ®f. »Oze

“&9 Y1307 o1 (IR GTAE S, (TR 7% (Ze1a-=] F(f| G=1 Q120w Jef#fat A wafe g -

1. SpIeas FHFe

2. AT A

3. e A

4. fa.f1 corar
Options :

92090645713. 1
92090645714. 2
92090645715. 3
92090645716. 4

Question Number : 29 Question Id : 92090611578 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



“T'E WRRA ST BRIEA TWH FRETC!, BDTATE F A°IATIO) R I BT ERFH COOMR'E TWFOf RATT!”

ARORFHL -
. TOOIF RICERT
2. TORF3F Oafsfore
3. W2m3H UfeHEs
4. zf. ®f. »Ozg

“& 1307 o1 (IR GTATE S, (SRR o7 (Zera==] Fifel| &1 Yi2ew Jef#far JAf wafe g -

1.
2.
3.
4.

Options :

ST e
ST FIE
GEEIN TG
fer, 1, coret

92090645713. 1
92090645714. 2
92090645715. 3
92090645716. 4

Question Number : 30 Question Id : 92090611579 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

THOBT! WAR R kRF 7 RTMMel Taf MO welds Otaryls P osadnf eeafe® meeal —

R5) BOA
ofdef
BCHRAT
Ixfes codo

SETHAI (ARG o2& JE731 (T #Arer=ifFteq ST Rar coiegi afbs 2 -

TG FRCI
feeife
OlGrage
(=BT (122



Options :

92090645717. 1
92090645718. 2
92090645719. 3
92090645720. 4

Question Number : 30 Question Id : 92090611579 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TEOBC! WARNR RRF 7 RUIMel Ter MOPTalds OotRryls Pozadnf eeafe® meeal —

l. R=c BoA'

2. ofdef

3. WewAd

4, 3xfex Cwio

ST CMRIbAT o3 2=l W2 (T sAterifFtent =rwieiar coiegi @fGs 2 -

1. FC=R PR

2. fefR

3. OlgaRe

4. CeoCw (AR
Options :

92090645717. 1
92090645718. 2
92090645719. 3
92090645720. 4

Question Number : 30 Question Id : 92090611579 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



THEOBT WPARR RRE % RCOME! Tan MODTelin OCRTRIE POESNf eeafT® memt —

1. f=d 8oz’

2. ofdef

3. BewAT

4, 3xfex vwim

SRFTHAI CRGAT o= 271 SA3T CT et teq ST ar coiegif @fbs 2 -

| LAY

2. fislfa

3. SieEa

4. CeoCw (1R
Options :

92090645717. 1
92090645718. 2
92090645719. 3
92090645720. 4

Question Number : 31 Question Id : 92090611580 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RCHI'E TSl B4T-3T S®8 enf sfehe EfRest —

1. @Rearyf
2. TRemmyiast
3. Tastmareftm

4. wOMSORTH

CITIE <29 O=A-2H TMAT (A1 Meria= [Feav —

1. waffe
2 Feo
3. wERrafae
4. fACEACES
Options :

92090645721. 1



92090645722. 2
92090645723. 3
92090645724. 4

Question Number : 31 Question Id : 92090611580 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RCRI'E TS B4T-IT 3xE enf #fZse EfRew’ —

1. =@weersf
2. Remmwift
3. Casfmaraftem

4. sOMSORCH

CAICFIE Sl ORA- AMAT (eI freri g femain —

1. wafafs

2. enfafele

3. SRR

4. TS
Options :

92090645721. 1
92090645722. 2
92090645723. 3
92090645724. 4

Question Number : 31 Question Id : 92090611580 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



WCII'E TS B4T-3T BRE enf #IZHE EfRent —

1. mseersf
2. TRemm iyt
3. Casfmaeaftem

4. sOMSORCH

AR ST O TWT (AT erie= e —

| waffs
2 @
3. iERaee
4. AT
Options :

92090645721. 1
92090645722. 2
92090645723. 3
92090645724. 4

Question Number : 32 Question Id : 92090611581 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ARELPCIT STOREORITO Bf KTD XTI’ —

1. @eoomerf Myl SrmmReImreo
2. Afopef@el efomkoONIro
3. mrmee3fs SfmmEosimro

4. wERFORi SfONEONIIo

TISFI-e FHafEs F1 e oadm —

2. 5'\::; 3 Iﬁiﬁl ﬁ'ﬁ?ﬁ”‘g@
3. Frafoq fegafes

4. <IfEs omafEs

Options :
92090645725. 1
92090645726. 2



92090645727. 3
92090645728. 4

Question Number : 32 Question Id : 92090611581 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ARELPCIT SfORFOBIIO Bf KCO XCEHM —

1. @eomelmssra SfmmReIsmre
2. Afopef@el SfmmkoORmre
3. mEmaryi SfmmEesime

4. wERpdoRin S INEONTo

o

IRt le oT53fEs F1 J2 b=am —

1. o omEfEs

2. REdces foHaEH

3. F>iafod omafes

4. waEfE" TmafEw
Options :

92090645725. 1
92090645726. 2
92090645727. 3
92090645728. 4

Question Number : 32 Question Id : 92090611581 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AFELPTIT STONEOBITO Bf KTO XTIHAT —

1. @eomefmssfs SfmmRessfimeo
2. Afepef@Eel SfmmioONmre
3. ERFWe°3N SfmmBoNme

4. mepdonn S oo o

MR THaREs 1w 5= -
1. igeifes FrEfEs
2. Rwdiea fomEfew

3. F>iafed omafes

— — —

4, FINEH FTH2AEH

e

Options :

92090645725. 1
92090645726. 2
92090645727. 3
92090645728. 4

Question Number : 33 Question Id : 92090611582 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BRECEI5ET ROEC TOMIeFesm ORPM »f —

1. m efn
2. Euh
3. ®eh
4. arefi

A5 HeT (oI e S Ere (8 ©f —

1. s
2. ‘@M
3. @M
4. =M
Options :

92090645729. 1
92090645730. 2



92090645731. 3
92090645732. 4

Question Number : 33 Question Id : 92090611582 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BHE°BIRET ROEC TOMIeFewm O »f —

1. T efn
2. Beh
3. ‘®En
4. o efi

JIBCENRCHE CSISHAEH SHAPEren (3% ©f —

1. o
2. ‘@I
3. @F
4. ® M
Options :

92090645729. 1
92090645730. 2
92090645731. 3
92090645732. 4

Question Number : 33 Question Id : 92090611582 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



BRIBIRET PROSC TOMIAFTRm O »f —

1. m efn
2. ‘Eeh
3. ‘®en
4. arefi
IZCERCIE CSIZACE STAPIETOT (B SF —
1. sr
2. FH
3. @
4, =
Options :

92090645729. 1
92090645730. 2
92090645731. 3
92090645732. 4

Question Number : 34 Question Id : 92090611583 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
RefRR ‘Tafde” Bsaf—

1. TRBf 78l

2. we2msF mURCS

3. HOR matPmRe

4. afer CHEPRERE

19T ST 39
1. 33 v
2. @RS Wi
3. (T fEEE
4. g AeTaiR
Options :

92090645733. 1
92090645734. 2



92090645735. 3
92090645736. 4

Question Number : 34 Question Id : 92090611583 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
RefRR ‘Cafde” Bsxl—

1. T%3f 78l

2. wawsw afekef

3. WO MatRmRe

4. oafe CEEPRIH

BT Skl 22—
. CE3 vl
2. GeEieds Aersfe
3. (e
4. g FeTERTA
Options :

92090645733. 1
92090645734. 2
92090645735. 3
92090645736. 4

Question Number : 34 Question Id : 92090611583 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



NefkRR ‘Cafde”’ B3af—

1. T*»sf 7ol
2. WelmsH mURC!
3. HOR matRmRe

4. afer CHEPRER

AT “SfgTa 23—
I CARq @A
2. R W
3. (T fECEeE
4. g AeTaR
Options :

92090645733. 1
92090645734. 2
92090645735. 3
92090645736. 4

Question Number : 35 Question Id : 92090611584 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HOF MAfPERENT ‘CORM BOTRzee’ A5F ROfRRM 50T TATT BOR 371 -

1. sege2
2. seg¢
3. sege
4. seen
CT ferarpaed (e SRRmTr ZrEar IREnI A3 ST e -
1. 5358
2. Sen¢
3. 555
4. 55¥9
Options :

92090645737. 1



92090645738. 2
92090645739. 3
92090645740. 4

Question Number : 35 Question Id : 92090611584 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HOF MAfPERENT ‘CORI BOTRfzee’ 35T RefRRM 25afT TATS BOR 37l -

1. sgg2
2. scgge
3. sege
4. cge%n

CHTS] TR (e SIS 21l qRB1a #1134 SE-aT CFTefam -

1. S958
2. daae
3. a0
4. 5359
Options :

92090645737. 1
92090645738. 2
92090645739. 3
92090645740. 4

Question Number : 35 Question Id : 92090611584 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HOR MefREReN ‘COal Berwfae 358 ROTRRM 25l TATT BORl & -

1. sge2
2. sgg¢
3. sgg¢
4. sge¥
CeiTat ferape N (e oM 2rar REnI A3 SRl e e -
1. 5558
2. Sy
3. %ab
4. 5359
Options :

92090645737. 1
92090645738. 2
92090645739. 3
92090645740. 4

Question Number : 36 Question Id : 92090611585 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
COIndR’, ‘TOE Tet Tof —

1. Oa°m Amssmf Sefmar
2. NefRR dmrymt Sxefoef i
3. oeem TRt Ogenmt 2sefmes i

4. NefRR ThRaf NefeRnt Sxefmef i
“CAILISTETT : (IR el S —

1. CHCRe el agiaei|
2. 1 ereE AR
3. CeTAR e Ceraed ATiafe
4. e e G AR

Options :
92090645741. 1



92090645742. 2
92090645743. 3
92090645744. 4

Question Number : 36 Question Id : 92090611585 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘coindr’, ‘Com'st’ aot cof —

1. Oaem Bmssmf Sxefmer
2. NefRR dmrymr 2xefoef i
3. Oe°m Tkt Ogennt Ssefmer i

4. NefRR Thaf RefRRnT Sxefmel i

“CIRITETIT ; (IR Sl S —

1. CHCa2 ef@ N el
2. qIfEm1 eres ARfEeH
3. CAtEe S Ceraed SiafaE|
4. et oy qfawm szt

Options :

92090645741. 1
92090645742. 2
92090645743. 3
92090645744. 4

Question Number : 36 Question Id : 92090611585 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



COIndK’, ‘TOE’ Tet Tof —

1. Oaem Amrysmf Sxefmer
2. NefRR Arsmt Sxefmef i
3. oeem Tl Ogennt Ssefres i

4. NefRR TRl RefmRnt Ssefmef i
“(AIRRAILCETAIT ; (AT Sl S —

1. CHITse e 3faat|
2. w1 eTEE AR
3. CHre ol Ceraedl anafaet|
4. 3o wwm QG oAk

Options :

92090645741. 1
92090645742. 2
92090645743. 3
92090645744. 4

Question Number : 37 Question Id : 92090611586 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘RN TR, TRE KB ReTRIANT THEHRM —

1. oafe CHePR3R
2. WHOR MatRmRe
3. chEF sfemef

4. RESHEE KFEFR

3 S SR 2T IR S24 —
1. Jfgaretsizas
2. (T fEEETE
3. TN A
4. FACSTEA SCITBT
Options :

92090645745. 1



92090645746. 2
92090645747. 3
92090645748. 4

Question Number : 37 Question Id : 92090611586 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘RN THRN TRE KB ROTRANT THEHR —

1. oafer CHePRER
2. WOR MatRmRe
3. cwEF sfemer

4. RESHEE KFEFER

" S SR ZIRT I 2 —
1. g er=iza
2. (T fEEETE
3. TR g
4. NI SO
Options :

92090645745. 1
92090645746. 2
92090645747. 3
92090645748. 4

Question Number : 37 Question Id : 92090611586 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



‘REN WM TRE A%E RefRRN THERT —

1. oafer CHePRER
2. HOR MefRmRe
3. chER sfemer

4. TASHEF BEAR

S S ST 2IET IIRID T Sed —
1. A Aretizes
2. G fecRtip g
3. SR
4. IACTHA BB
Options :

92090645745. 1
92090645746. 2
92090645747. 3
92090645748. 4

Question Number : 38 Question Id : 92090611587 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘I ARAM RTOWE R Il ‘I ROME THES' AR KAl —

1. mem
2. RRACT
3. wER
4. =R

XA RN (G2 ST | ¥ I S ZITAA &< -

1. spRe
2. B
3. FEme
4. T

Options :

92090645749. 1



92090645750. 2
92090645751. 3
92090645752. 4

Question Number : 38 Question Id : 92090611587 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘J&" AR FPTOWE *U I ‘I RUMNE THTS ARAT RCEH —

1. mem
2. RREACT
3. meER
4. speE

XA’ QUL (G LG To| I I Speal ZIel L= -

1. =5
2. WIEH
3. (M2
4. S
Options :

92090645749. 1
92090645750. 2
92090645751. 3
92090645752. 4

Question Number : 38 Question Id : 92090611587 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



‘7" AREM PTOWE XTI ‘I RUMNE THTS’ AKRPT KA\ —

1. mew
2. RREACT
3. wER
4. speE

R T (RG2S T I 129 SF-1ar ZIAel Qe -

1. =i
2. R
3. AR
4. ©rEA

Options :

92090645749. 1
92090645750. 2
92090645751. 3
92090645752. 4

Question Number : 39 Question Id : 92090611588 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TATE RRFMT Fedd KT OFR ofcfecarasal —

L z#
2. X°m THEF
3. smoE R
4. mar
AT TSN CACS I #1471 A& mam —
I
2. (R OFME
3. TWICAEIGT
4. sl
Options :

92090645753. 1



92090645754. 2
92090645755. 3
92090645756. 4

Question Number : 39 Question Id : 92090611588 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TATE RRFWF e BT G55 Ofzfecarsasal —

1. Tw
2. X°O TEF
3. @@ o5 R
4. mer
S| T CACS Y M MGl —
1. o
2. BLOFMl
3. &l Al B
4. e
Options :

92090645753. 1
92090645754. 2
92090645755. 3
92090645756. 4

Question Number : 39 Question Id : 92090611588 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TATE RRFMT Fedd KT OFR ofcfeearasal —

L z#
2. X°mD THF
3. @m0 R
4. wef
A TSN CHCS I *1 AGraamai —
1. o
2. (BLEPMEl
3. TS
4. e
Options :

92090645753. 1
92090645754. 2
92090645755. 3
92090645756. 4

Question Number : 40 Question Id : 92090611589 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tlma’e®I @Rmf ATRTRmt AR/C AT E9s 00 BTONf MEHMS Kol FER OFCICTE ki kel kofoaf—

l. wezf I @Ezdwees Tf i
2. weef 3mC mEsAwQT Ef |
3. weef Tam BTIERLT T i

4. wezf 37T BELARA ©f |

fSecdicaE AR arewoN (2l (2EF Fhed 7l (FeA Afee (TEmeul 39w Aiemsl AT I WA -

1. g il prrocael|

2. Sfg AWl FARTSHEF|

3. g AN FALSE |
4. G AWM PTG

Options :
92090645757. 1



92090645758. 2
92090645759. 3
92090645760. 4

Question Number : 40 Question Id : 92090611589 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tlma’e®I @Rmf ATRTRmt AR/C AT E9s 00 BTONf MEHMS Kol FER OFCICTE ki kel kofoaf—

. wezf I @mEzdwees Tf i
2. weef 3mC mEsAwQT Ef |
3. weef Tam BTIERLT T i

4. wezf dRC BEISRA ©f |

e S 2ree o (AT (e T A (T AT (3=l 29 Memar (TS A T2 -

1. g el gagrocasi

2. Sfg AWl FARTSHEF|

3. G AR PALTSEE |
4. g AWM PTG

Options :

92090645757 1
92090645758. 2
92090645759. 3
92090645760. 4

Question Number : 40 Question Id : 92090611589 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TIITe®I @R ATRTRT AFC AT ESE O0C BTON, MExRf$ SKoR BER OfZfTTs k¥ kel Rofoat—

. weef dam BT Tf i
2. weef IxT mEsgwam ef |
3. weef Iem @Ezgwer ef i

4. weezf IxC HELRA ©f |

AT TN ZrEeeN (AT (G e A1 (P A (FTZ*Te1 31 Aferar CATe Axe TN -

1. g U=l ggrerae|

2. g AW FAYTSHFRI

3. g A FAASE |
4. g A= PG

Options :

92090645757. 1
92090645758. 2
92090645759. 3
92090645760. 4

Question Number : 41 Question Id : 92090611590 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Realld SFRFET EFZI BER OU%E KOxl-
. @maf efi
2. weex® chi

3. ®%c crem cfi

4. oC srem cfi

CMg (BRI R SRl 24T Aeai —

1. efgf

2. ATl

3. IRy eTes M)

4. 1 oHGE
Options :

92090645761. 1



92090645762. 2
92090645763. 3
92090645764. 4

Question Number : 41 Question Id : 92090611590 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RealDd SFRFEC EFZT BER OU%IE KOxl-
. @maf efi
2. weex® efi

3. WKC SREm Cf

4. oC srem cfi

Cufnee (IBYRAT T FIaul =61 HoAim —

1. efgf

2. CAUpIi

3. (NIEg e )

4. 1 THGF |
Options :

92090645761. 1
92090645762. 2
92090645763. 3
92090645764. 4

Question Number : 41 Question Id : 92090611590 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



RealDd SFIFST EFZT BER OT%IE KOxM-

1. et el
2. weex el
3. ®®C SrEm Tf i

4. oC sreem ofi

(X2 CIZYTT TR Tl BT HeAifir —
1. S
2. C4Upii
3. g aes )
4. I EIeF )
Options :

92090645761. 1
92090645762. 2
92090645763. 3
92090645764. 4

Question Number : 42 Question Id : 92090611591 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RO MEOFE RN, KIS Tl REfOEHN —

1. TRE PHOIM
2. ASHE ARTT RIW

3. nRRfF RROMOSR

4. Aw@ Mm%
SJaIE AT Be wLTeT A
l. ST CHIZCHAi1
2. 2P 36T Tl
3. W3R CnEfeey
4. 28T Mg
Options :

92090645765. 1
92090645766. 2



92090645767. 3
92090645768. 4

Question Number : 42 Question Id : 92090611591 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SR MEOFE RTMf Ko Tl kil oaf —

1. TRE PREOIM
2. AYE ARTT RIM

3. n»ERF PROMDE%

4. Aum M¥
SIS AR B FURTETAN WL —
L. ST CAIBT=T
2. 3ICT 239F AT
3. w3faw cnEfeEy
4. 28T Ae
Options :

92090645765. 1
92090645766. 2
92090645767. 3
92090645768. 4

Question Number : 42 Question Id : 92090611591 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SR MEOFE RTMF KISCMF Rl O# —

1. TRE PHOIM
2. ASHE ARTT RIW

3. wRRfF RROMmES

4. Awm Mm%
S]12 #{{3a1 By J2iLCETe e —
1. ST CHRCe=AT
2. 2P 26T Tl
3. W3 ey
4. 2183 *MYe
Options :

92090645765. 1
92090645766. 2
92090645767. 3
92090645768. 4

Question Number : 43 Question Id : 92090611592 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ERE TFE Hale TS AKAMN RCSHI—

1. mfome MofFsH
2. H Oy 2reore
3. wOme cfT ocme

4. mRiO3sE MeHFEONTT

TG @ 3L AT 2ITa LM —
1. fEafEece
2. WEacomeEN
3. fEsfore o=a
4. B oo
Options :

92090645769. 1
92090645770. 2



92090645771. 3
92090645772. 4

Question Number : 43 Question Id : 92090611592 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EFRE TE Raf0) IS AKLM RUEHI—

1. mRfO»e RefFsEs
2. H oy 2rOrE
3. wome i ocee

4, i3 MeFST

TS ST BT (AT RN e=m —
1. fEzfawce
2. fEg CEmeEn
3. fEafee o=a
4. B oo
Options :

92090645769. 1
92090645770. 2
92090645771. 3
92090645772. 4

Question Number : 43 Question Id : 92090611592 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



EFe TE Baf0) IS ABLMN RUEHI—

1. mfowe MafFEs
2. WOy Eeme
3. wfome i@ oeear

4, mRiM3ser MeFETET

¥R G 300 (AT 2ol Wemaf —
1. fEafEce
2. fEd(EHER
3. fEgfee ome
4. B o
Options :

92090645769. 1
92090645770. 2
92090645771. 3
92090645772. 4

Question Number : 44 Question Id : 92090611593 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e JECl MEZH MO TN Redf Hes LCrHRT —

1. @mRT 3BT

2. BWE J3°m B4
3. OURAT XUATE
4. ek ROF

CIAT Sl #W] 2re T2l Ctea rale (A —

. @i o[

2. (I (RS FIRAT
3. R cheraned
4. 13 Al

Options :
92090645773. 1



92090645774. 2
92090645775. 3
92090645776. 4

Question Number : 44 Question Id : 92090611593 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Redt BATH MEFH MOT TN RIMF Hav Terar —

. ®ERT BEes

2. WW3 JB°m B4
3. OURAT XUATE
4. ePF »OF

CAT S 2T 2Te TATE=T CHCoa #ar (A —

. oM

2. (IR COIATe F-AT
3. FEE (herEed
4, =13 e

Options :

92090645773. 1
92090645774. 2
92090645775. 3
92090645776. 4

Question Number : 44 Question Id : 92090611593 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fegmf BeCl MEEH MOTTIR Rl Be Tersd —

1. ERT BT3
2. BB I5°0 EXW
3. OCkAT ROADSE

4. Oa®ks RO3

CRIN S 2AWT 2T T CAeS A sire (g —

. @i o[

2. (I CoTAne FIeAT
3. R (herared
4. I3 QeI

Options :

92090645773. 1
92090645774. 2
92090645775. 3
92090645776. 4

Question Number : 45 Question Id : 92090611594 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
MCRAT ROAWE LeoF MOTR S3eHl —

1. wAmf so Tf MEs
2. wdivf 8¢ of MEs
3. ®dIcEmf so of MEs

4. FHdeEmf s¢ Cf Mes

eIz (oeT2Ied! (s AR TAFHAT A1 -
1. 2 do i =M1
2. e >a [ AT
3. 306 Yo A
4. e de W oA
Options :

92090645777. 1



92090645778. 2
92090645779. 3
92090645780. 4

Question Number : 45 Question Id : 92090611594 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

OCRAT X°OA M8 LoF MOS TN Z3eHf —

1. X»dmf go of Mes
2. wdimf ¢¢ of MES
3. XdI°Emf S0 Tf MES

4. FdeEmt s¢ Tf ME3

FANE (FeTEedn CAE 2 (AT [ -

1. Tt o 7 ot
2. Derlse oM
3. 3res so [ M

4. 3UeNN e & A

Options :

92090645777. 1
92090645778. 2
92090645779. 3
92090645780. 4

Question Number : 45 Question Id : 92090611594 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



OURAl RDADS Tef MOTTR S3THl —

1. wAmf so Tf MEs
2. wdivf 8¢ of MEs
3. ®dIcEmf so of MEs

4. FdIcEmt ¢¢ Uf MEs

A (FeTIReAT (A ARG TF=AT AR -
1. el yo [ oAt
2. el oe [ AAmT

3. 3ue=a do A #mn
4. BresN e F o

Options :

92090645777. 1
92090645778. 2
92090645779. 3
92090645780. 4

Question Number : 46 Question Id : 92090611595 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AMERCHY RAGZIM OF ATPTF SEN OfI5F BTICHET HFaFs e mwf:

1. 2ok O TF
2. oCkelmr
3. OFOT AFF

4. dw °Ons

CEY NG A SIS @ o5 g (FIGTEH 399! Alfdie -

1. CHIS *Taie A_I

2. FAEEF

3. WA el

4. [N AR
Options :

92090645781. 1



92090645782. 2
92090645783. 3
92090645784. 4

Question Number : 46 Question Id : 92090611595 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

NMERERY RAGZIV OF ATRITS 3 OFI5F ETICHET HFOFS SR ms!:

1. 2ok O3 I3
2. oCRClr

3. OFOD ARFE

4. ar °mns

SHBY NG T TFC G TR 2% (FICGG ] 2390 Fo(d@ -

1. ICHIS =i AR_

2. FEEE

3. N0 T

4, 49 AR
Options :

92090645781. 1
92090645782. 2
92090645783. 3
92090645784. 4

Question Number : 46 Question Id : 92090611595 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



APERERE KASZMT OC ATPMS S50 OfI5 BPCIZAST HOEE SRl

1. 2ok oI I3
2. oCRTlr
3. OFOD AFE

4. on C°om3

SEH NG Al SIS @ oG5 9T (FIGGTE 399! Alfaie -

1. SCHIS *TaifeT -

2. FHAT

3. e el

4. ¥ (AR
Options :

92090645781. 1
92090645782. 2
92090645783. 3
92090645784. 4

Question Number : 47 Question Id : 92090611596 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘ORCPT AFE’ 7 Ofmdels cfo'sr -

1. MEWHE
2. RAREPWE
3. MEAS

4. WHrE

HACHE =T W AefEar ferdn —

1. =AZerE

2. bHRCEIE

3. =Rl

4. IRl
Options :

92090645785. 1
92090645786. 2



92090645787. 3
92090645788. 4

Question Number : 47 Question Id : 92090611596 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘OECPT AFE’ T Ofmdels cforsf -

1. MEWHE
2. RAREPOE
3. MEAE

4. BRFE

HAACHIE &3 0 Ao i —

1. =N3earE

2. BAREE

3. AR

4. FIHEI
Options :

92090645785. 1
92090645786. 2
92090645787. 3
92090645788. 4

Question Number : 47 Question Id : 92090611596 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



‘OECPI AFE’ 7 ofmdels cfozsf -

1. MEWHE
2. RAREPWE
3. MEAS
4. @RS
ST = wl Aeafar e
1. shEemE
2. bR
3. “miEa
4. FIHEI
Options :

92090645785. 1
92090645786. 2
92090645787. 3
92090645788. 4

Question Number : 48 Question Id : 92090611597 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IMERCIY KASCT WTZCH BTO THfdz $Rf5 Srefrofmar —

1. 2mzie e, 2oee

2. QmIIE e, 2O0MPH O TF

3. XIOTWRE RAMZ MM M, ST

4. RIOTWHE RASZ WM XM, SO OMPI TF

Sb™ RG] ST (2 @2ftewl 2T anafaafaieit —

1. @A (T, AN
2. FYAN (EH, FCHID #ToE ARA
3. oo TS S5 AT, FLTeT=

4, ToeeTdl = TERIS 515 bR, A2 *To(e AR/

Options :
92090645789. 1
92090645790. 2



92090645791. 3
92090645792. 4

Question Number : 48 Question Id : 92090611597 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

NPRNCHS KASCT NTZCH BTN THliin FRfE IRl rofmzr —

1. 2mzie e, oS

2. 2mI3E T, oWk O ¥

3. XIOTWEE RAGZ MM X, SODT

4. RIODTWHE RAGC WD XM, SOMPK OMPI BT

SI9Nb™ NG 1! (P2 S3faten 3Rl =R fe*ien —

1. AR (FH, AL
2. SR (EH, SICHIS #TaeT AR
3. Moot STRRIGT S5 Rl FLTeT=

4, foeeTrT NEAG S BT, ACHS *Toie L[

Options :

92090645789. 1
92090645790. 2
92090645791. 3
92090645792. 4

Question Number : 48 Question Id : 92090611597 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



IMRRCEY RASCT 0TZCH BT CHefdz $xf5 Srafrofmal —

1. 2ozie 2, cuSe

2. 2mI3E 2, 2omrs O3 38

3. XIOTWRE kAT MM T6M, SODT

4. RIOTWHEE RASZ WD XM, SO OMPI TF

SIS NRIAICrT S22 (FFieje ST 2T T2y —

1. SRR &, ST
2. TR (E, FICHD STl A&t
3. oot RIS S5 bRl FeTe=

4, ToesTl = TERIG 915 bR, A el AR

Options :

92090645789. 1
92090645790. 2
92090645791. 3
92090645792. 4

Question Number : 49 Question Id : 92090611598 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
RfOR S3TEf Ret 33 IRafwss—

1. oekefmr
2. ©ePD CexERe 253 CfOE

3. aue?s 2%% ufms

4. @w COME

g1 Coidl 919 Al wEfRie -
1. e
2. SAlg FVPAM 73 ALl
3. IR SIRg e
4. AN R

Options :

92090645793. 1



92090645794. 2
92090645795. 3
92090645796. 4

Question Number : 49 Question Id : 92090611598 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
RfoR I3TwEf Ref 355 25—

1. oerefm
2. ©ePD CeRERe 3KE UIDE

3. aJues %% Cfms

4. a% C°mms
1 CoIR! 94 qhedl AisEe -
1. S

2. SCAle A A3 LA

3. §UYIE AR ALl
4. 9N AR
Options :

92090645793. 1
92090645794. 2
92090645795. 3
92090645796. 4

Question Number : 49 Question Id : 92090611598 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fOR JBUET Ref 398 Snafmssi—

1. oerefr
2. ©ePD CTTERE IKE UIOE

3. auee’s %% Ufms

4. A% CmmE
T Co=i! g9 el Askie -
1. FAEEE

2. SAlg FHFSE A3 A

3. 4UYIE IR Al
4. ¥ AR
Options :

92090645793. 1
92090645794. 2
92090645795. 3
92090645796. 4

Question Number : 50 Question Id : 92090611599 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

L Folklore is unrecorded mentifacts” ARQREHRN —

1. Beaf wImfe

2. WEAARO
3. mOTH B KOS
4. oz

. Folklore is unrecorded mentifacts™ Z/9d3M—

1. S G
2. =g

3. TE] WCO-IIe
4. (berd

Options :
92090645797. 1



92090645798. 2
92090645799. 3
92090645800. 4

Question Number : 50 Question Id : 92090611599 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

L Folklore is unrecorded mentifacts” AROFEHRN —

1. Zof w3@fe

2. WILARO
3. mOTH RS KOS
4. ¥z

- L. Folklore is unrecorded mentifacts™ Z/9d3M—

1. (afE B

2. HJE=A

3. TEMEN(e-IIe
4. (oo

Options :

92090645797. 1
92090645798. 2
92090645799. 3
92090645800. 4

Question Number : 50 Question Id : 92090611599 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- I— Folklore is unrecorded mentifacts” AROESHRF —

1. Beaf wImfE

2. WSRO
3. mOER R KOS
4. W

pr Folklore is unrecorded mentifacts” 49—

1. @S G
2. EHEET
3. SHIG Ao I8

4. (beR

Options :

92090645797. 1
92090645798. 2
92090645799. 3
92090645800. 4

Question Number : 51 Question Id : 92090611600 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ORPTRET FICE RO ART BWRISAT —

1. mem
2. enf-oRgo
3. Frokee

4. moea weIer

FPHLA ([Qa6fHq CMRFCeTEr 2T (iR

1. &

2. (S EA
3. Y
4. TG

Options :



92090645801. 1
92090645802. 2
92090645803. 3
92090645804. 4

Question Number : 51 Question Id : 92090611600 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

OBETRET TTCATE LD ART WRISHT —

1. mem
2. Eenf-opem

3. RIrORee

4. meEx weIaf

FFHLe Qe CNRIRICfEr 2T (FfRef-

1. &+

2. g™

3. T ER

4. & afF
Options :

92090645801. 1
92090645802. 2
92090645803. 3
92090645804. 4

Question Number : 51 Question Id : 92090611600 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



OBETRET TTATE LD ART WRISHT —

1. mem
2. Eenf-opem

3. RrORee

4. moE# welsr

FFOAe [efdq CNRCICETier 2Rl CHEm—

1. &

2. (e EA

3. YA

4. SEmT @
Options :

92090645801. 1
92090645802. 2
92090645803. 3
92090645804. 4

Question Number : 52 Question Id : 92090611601 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
EYII3s° AREOM-
1. TP4EE RO BOK Ref af i
2. ®iNEC #%C ofzfees Rdm ef i

3. an-mfemnt ©@x3 Ref efi

4. w3t ©KF Naf efi
1. CoeETs T*F SiF=( qihi |
2. AT cotEar MiEar grere |

3. S-S @3 |
4, BEAR S3IRM

Options :



92090645805. 1
92090645806. 2
92090645807. 3
92090645808. 4

Question Number : 52 Question Id : 92090611601 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

E*r3s°3 AREOM-

1. TP4EE ROT B0 Ref Tl i
2. ®INAET BKT OfZfeTs Nadm ef i
3. 2n-mfemt @53 Ref el

4. R4U3t ©KF Ref el

1. CoIeETs T*F ST IR |

2. SEeET CotEal SifGar ahene |

3. SI5-SF @3RI |
4, BeAR G399

Options :

92090645805. 1
92090645806. 2
92090645807. 3
92090645808. 4

Question Number : 52 Question Id : 92090611601 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



EPr3s°3 ABEOM-

1. TP4EE ROT RO Ref Tf i
2. ®INAET WKT OfZfCTE RaAm ef i
3. an-mfemnt ©x3 Ref efi

4. R4St ©KE Ref el

1. CofleETs T*F S R |

2. AT CSTEAr SiEEar arene |

3. SISO eI |
4, B S39IRAM |

Options :

92090645805. 1
92090645806. 2
92090645807. 3
92090645808. 4

Question Number : 53 Question Id : 92090611602 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ReRerfRel BIRE, KOOSR REBHM -

1. Pyl

2. Bretm

3. mers

4. P oo

CBTACEe Sebaa 2l qredm —

1. (FRG

2. (FIPCAR

3. ceer

4. b

Options :

92090645809. 1



92090645810. 2
92090645811. 3
92090645812. 4

Question Number : 53 Question Id : 92090611602 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ReRerfRel MIRG, KOOSR REBHM -

1. P

2. Brem

3. mePiE

4. P Tes

CABRTEeT PeToaa Teu Frefn —

l. CE0

2. (F0AR

3. ceer

4. b

Options :

92090645809. 1
92090645810. 2
92090645811. 3
92090645812. 4

Question Number : 53 Question Id : 92090611602 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ResenRel IR, KOOSR RE85HM -

1. Pmor®3

2. BEmrerm

3. mePis

4. Pmr Gk

BT Feibaa 2l Wadn —

1. FR0e

2. (FISOR

3. caeH

4. TF L

Options :

92090645809. 1
92090645810. 2
92090645811. 3
92090645812. 4

Question Number : 54 Question Id : 92090611603 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& OFMEFT s TReZAl —

1. 3foRes
2. WA
3. warTsmme

4. Creazeac

71 A CA9RSA! SIH T —
1. fe
2. T
3. wORedl
4. ST
Options :

92090645813. 1
92090645814. 2



92090645815. 3
92090645816. 4

Question Number : 54 Question Id : 92090611603 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& OERERS OFETE TReZHl —

1. BfORET
2. WA
3. wafesmmss

4. Cresmzedt

1 AW (oSl BB T —
1. =g
2. ¥
3. ESRRedl
4. VRG]
Options :

92090645813. 1
92090645814. 2
92090645815. 3
92090645816. 4

Question Number : 54 Question Id : 92090611603 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&) OFMEFT s TRezAl —

1. 3foRes
2. WA
3. warTsmme

4. Creazeae

71 A CA9RSA! SIH T —
1. faee
2. T
3. SSIE®El
4. ST
Options :

92090645813. 1
92090645814. 2
92090645815. 3
92090645816. 4

Question Number : 55 Question Id : 92090611604 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
OFMERR T43E OfTewnt dry Jsat:

1. am
2. wdme
3. axmef
4. wnrem
AN @1 N A R
1.
2. EFH
3. @@=
4. oo
Options :

92090645817. 1



92090645818. 2
92090645819. 3
92090645820. 4

Question Number : 55 Question Id : 92090611604 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

OFMERS T4®E OfTewnt Iy JEHS:

1. am
2. wder
3. amef
4. wRrBR
AN G4 AN At (o
1.
2. TEFE
3. @
4. afpent
Options :

92090645817. 1
92090645818. 2
92090645819. 3
92090645820. 4

Question Number : 55 Question Id : 92090611604 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



OFMERE T4E OfTEwnt Ty J5H(:

1. 2o
2. e
3. axmef
4. wRrwm
AN @1 N AT TR
1. ¥
2. SEFR
3. &=
4. afoer
Options :

92090645817. 1
92090645818. 2
92090645819. 3
92090645820. 4

Question Number : 56 Question Id : 92090611605 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘@¥ PN WE z° TIEF"R MPED Kergal —

1. =m3af= Bf wfom
2. 3f Wem wealts
3. e »f mIafe

4. wfatsmr NefaoORes

‘TS (2 ST (& SEILFW F(FIF 3997 —

1. wafere f4 {5

2. T @ @ferds

3. @b (FlEfEe

4. o= g
Options :

92090645821. 1



92090645822. 2
92090645823. 3
92090645824. 4

Question Number : 56 Question Id : 92090611605 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘@¥ (PN WE z° TIEL°R MPED KORFEHl —

1. =m3af= 3f nfow
2. »f wem wealsk
3. wee »f mIafz

4. WfatnRr NeRORSS

TS (N SF (& ST PP T —

1. w3ETe [ e

2. T @ dferss

3. PISh (IlEfae

4. fafers g
Options :

92090645821. 1
92090645822 2
92090645823. 3
92090645824. 4

Question Number : 56 Question Id : 92090611605 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



‘@¥ PO WE z° TIEY"R MPED Rergal —

1. #mscfw Bf #fowm
2. 3f Tem weelss
3. we »f mIafe

4. Rfatsr NeAOReS

TS (1L OF (G SFHT 2(FE 2997 —

1. wafere f4 57

2. T @ «feras

3. @b (Plefae

4. fiferes g
Options :

92090645821. 1
92090645822. 2
92090645823. 3
92090645824. 4

Question Number : 57 Question Id : 92090611606 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt HIT KAFS OATBRN ket Jus Sxafryf —

1. WrRsfrem
2. Eofsm
3. @t & OZSHE

4. BRTMOER afFaemfs

GIFCETSE 3991 Al eyl <1 Codl e —

1. oAb

2. fo

3. o iy FgEw

4. FRese EhHaE

Options :
92090645825. 1



92090645826. 2
92090645827. 3
92090645828. 4

Question Number : 57 Question Id : 92090611606 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ToafORHIT KRS OATIRN kel 208 ShalTyl —

1. Rsfme
2. Eof#@m
3. T @l OZSHE

4. BRMMAENS afsaemfss

GBS 31 AfZeyel W Lo esfate —

1. cAEhe

2. foww

3. AHEEw

4. AZsafE EEEEE

Options :

92090645825. 1
92090645826. 2
92090645827. 3
92090645828. 4

Question Number : 57 Question Id : 92090611606 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ToafORPHIT KAOES OATBRN kel Jus Sxafryf —

1. TRIme
2. EofHsR
3. e &t OB3BE

4. IFTIMDENS armaesfs

QIHCETSeT 3991 Aoyl J<1 ¢l T2 —

1. b

2. fow

3. o iy EEw

4. ey HEcfE

Options :

92090645825. 1
92090645826. 2
92090645827. 3
92090645828. 4

Question Number : 58 Question Id : 92090611607 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RETOREFN OBTHNV R*°CUF KA ROIOIOT -

1. seEfu
2. sgef
3. wefu
4. %ecli
QBTN #IFT=9fT (T B2y A —
. bbHI
2. bl
3. @
4. L |
Options :

92090645829. 1



92090645830. 2
92090645831. 3
92090645832. 4

Question Number : 58 Question Id : 92090611607 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ROTORERN OBTRV R°CUE XAT ROTOOF -

1. g¢ el
2. seefu
3. xe el
4. % Tl
RISl M T=olT (4T 52T AN -
. b
2. v
3. M
4. qu |
Options :

92090645829. 1
92090645830. 2
92090645831. 3
92090645832. 4

Question Number : 58 Question Id : 92090611607 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



RETORERN OBTHIV R*°CUT RAT ROIDOF -

1. eggaf
2. geghi
3. %e Tl
4. »e Tl
BT ST (N1 B2 A —
. v
2. pufa|
3. WM
4. quf
Options :

92090645829. 1
92090645830. 2
92090645831. 3
92090645832. 4

Question Number : 59 Question Id : 92090611608 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Realld 98 BTIFN k¥0x EFZI BRI5af -

1. UssfmRm
2. USES
3. CH%FE
4. SRRAE
iz T (RN T2l T SR —

1. «refaerare
2. ATFE!
3. AITEE
4. CoTIIgE!

Options :

92090645833. 1



92090645834. 2
92090645835. 3
92090645836. 4

Question Number : 59 Question Id : 92090611608 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Realld 98 BTIZN kR0 EFZI BRI5af -

. Cssfmwm
2. USES
3. CH%FE
4. SRRAE
Cafnze Tal (AN TPl T FRM —

1. Areferane
2. ATFA!
3. AR
4. CoTIIYE!

Options :

92090645833. 1
92090645834. 2
92090645835. 3
92090645836. 4

Question Number : 59 Question Id : 92090611608 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Realld %8 BPCI'EM RYIR EF3I BRIExS -

1. CUwsfm»*m
2. CwES
3. CE%AE
4. k7T
ey TR (RFICZRM STgenl w31 FIM —
1. ArefAerre
2. ATTEA
3. «ICwE
4. (=BYH
Options :

92090645833. 1
92090645834. 2
92090645835. 3
92090645836. 4

Question Number : 60 Question Id : 92090611609 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

d® oueeRsfv Toof RETOTREAr —

1. cwmde WHsl SREs

2. RT° 2ORK MRS

3. FReafal MEOfs

4. RRfDd BRFE

CoTa ereTari e a3yt -

1. eI CoAr ogrear
2. (B ARSI ATl
3. Cafzg #fmEr
4. g

Options :
92090645837. 1



92090645838. 2
92090645839. 3
92090645840. 4

Question Number : 60 Question Id : 92090611609 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

d® oueersfv Toof ASTWTRIEHr —

1. cmde wrsf SREs
2. 3 IoRs MRE

3. ReRfDu RTOFS

4. RRfD0 BRFE

CoTsI wCeTaell 2 qI5YemrERT —

1. =23 CoAra Sreat

2. CHICY Areqry AT

3. ey S
4. g FrEl

Options :

92090645837. 1
92090645838. 2
92090645839. 3
92090645840. 4

Question Number : 60 Question Id : 92090611609 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



d® oreersfv Toof RETOTREAr —

1. vm3e Wr3f SR8
2. X3 IoRB MRE
3. FRealDal ICOFS

4. RRfDd BRFE

CoTa areTari e a3t

1. T3 CATT e
2. (BICY Areqry Al
3. Cafeg #ffmEr
4. g !
Options :
92090645837. 1
92090645838. 2

92090645839. 3
92090645840. 4

Question Number : 61 Question Id : 92090611610 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

NVERERY RAGZIN ERFR FOFE ShCfOm mef cus anefmst -

1. xesowfewnt zfa X5
2. ®%°d JAIFE

3. RIOTWEE RALT NN RN

4. wePm UCHERE 3K CfOE

SO NERTGA ToqqT 3991 Alsfesi S (o= arsfafier —

1. PHIL G Fedl
2. O &
3. oot woEIe 915 bRl

4. SR FHGAR 129 Al

Options :
92090645841. 1



92090645842 2
92090645843. 3
92090645844. 4

Question Number : 61 Question Id : 92090611610 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

NMERCHY RAGZIM RRFR FORE SKClOm kel SU8 Snefmsl -

. Xeagmfewt Zf@ X5
2. ®%°d JAIFE
3. RIOTWES RALT UM X4

4. wetD TTHERE SKF CIOE

©aToY NBAIGE Touq S99 Slafes SfF toier sl —

1. "W<Ib G Fedl
2. o0 5l
3. fooerart wgEier o5 vR2l

4. SAIR FHFAE T2 ALl

Options :

92090645841. 1
92090645842. 2
92090645843. 3
92090645844. 4

Question Number : 61 Question Id : 92090611610 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



NVERERY RAGZIN ERFR FOFE ShefOm kel cus anefmsst -

1. xesowfewnt zfa X5
2. ®%°d JAIFE
3. RIOTWHE RAST VD TN

4. wePm UCHERE 3K CIDE

SO NERTGA ToqqT 3991 Alsfesi S (o= arsfafier —

1. PHIL G Fedl
2. O &
3. oo WgEe 915 prAl

4. SR FHFAR 129 Al

Options :

92090645841. 1
92090645842. 2
92090645843. 3
92090645844. 4

Question Number : 62 Question Id : 92090611611 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
780 8% BRTU K8 BAfRZIM KT ROSHA -

1. ®dO2, RIWSR, Kad
2. ®aO2, kBT, RaBTX
3. ®ds8e, RO, RABTX

4. ®d82, RAWEX, RdOD

3T 913 Ie6a1 391 farafEs T9e e —

1. FYHII, NYFeD, ST
2. SIS, e, NYFE>
3. THEE, WY, SYEED
4. AR, WYPeTh, T

Options :
92090645845. 1



92090645846. 2
92090645847. 3
92090645848. 4

Question Number : 62 Question Id : 92090611611 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
7AeTEM 8% SXECC K% Rl K ROS#l -

. ®acdd, kawex, Ka3a
2. ®dO2, RABS, RIBIX
3. ®dB83, kOIS, RaBIX

4. ®d83, RJWEX, RO

ofaqeA 913 564l 391 fqrafes w2 s=nefr —

1. SIS, IYFTD, YT
2. TR, R, N
3. T, NI, W
4. T, T, TEA

Options :

92090645845. 1
92090645846. 2
92090645847. 3
92090645848. 4

Question Number : 62 Question Id : 92090611611 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



#ETEC) 8% BRTT K8 wAlzfNf kT RCSH’ -

1. ®dO2, RIWSR, Kad
2. ®aO2, kBT, RABTX
3. ®ds8e, RO, RABTX

4. ®d82, RAWEX, RaOD

3T 913 Ie6a1 391 farafEs T9e e —

1. FYHII, NYFeD, ST
2. SIS, e, NYFE>
3. TR, WY, SYFEh
4. SEAMRI, WYPeTp, FYHTE

Options :

92090645845. 1
92090645846. 2
92090645847. 3
92090645848. 4

Question Number : 63 Question Id : 92090611612 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Arewf ROTER RCIMeTR ACHIMA -

l. Tefsw HRe
2. CME BT
3. CRICHINE RESHS

4. wAmsw mfvker

for T WA 2T —
1. I FAE
2. Ao oM
3. CAWCARE= AICme
4. @@ wiTf
Options :

92090645849. 1



92090645850. 2
92090645851. 3
92090645852. 4

Question Number : 63 Question Id : 92090611612 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Arexf RefkR RCIMers AT I mar-

1. wefsw @mRe
2. COWME X°FF
3. SRICHIRE RESHE

4. wAWIF HURCT

NI (i Bk L BT g

1. SifEas g

2. A oAl

3. COTHCHAIFHAN qICHme
4, GETIF WA

Options :

92090645849. 1
92090645850. 2
92090645851. 3
92090645852. 4

Question Number : 63 Question Id : 92090611612 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



‘Afewf ROTER’ RCIMETR ACHIMA -

1. Tefsw HRe
2. COWME BT
3. CRICEHIE RECHS

4. wamsw mfuker

NERIE b O Bl ETad s o
1. S AR
2. A CoEl
3. CAWCARE= AICme
4. GETIeFN A
Options :

92090645849. 1
92090645850. 2
92090645851. 3
92090645852. 4

Question Number : 64 Question Id : 92090611613 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

»f T Refml ‘wf Nee% S°CH' SOIH THRRECFAT RUMMETa ATTTNE LT3 KRfMRT -

1. wWmes cnan
2. Wz @pecn
3. wWmes apae

4. wwag zn

T 97 GeTEbSl <6 (9% (o (eTer e m-l SeAal g aml cET e

1. Coieeat s
2. CSIeEl e
3. CHiSIeET_l A

4. CAHETRIES

Options :
92090645853. 1



92090645854. 2
92090645855. 3
92090645856. 4

Question Number : 64 Question Id : 92090611613 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

37 oo BSrRml ‘Fwl NooH TR SDIF THEREFAT RUMMATR ATTT WA LTE KRITRT -

1. »'was ermn
2. Wmas cEew
3. wWmes eree

4. wes en

T 97 G5 fE (7% o (e GabmEAT SR srieemT crE e

1. Csteaar s
2. CAMIERI AN
3. CeieeRl AT

4. CANERI TN

Options :

92090645853. 1
92090645854. 2
92090645855. 3
92090645856. 4

Question Number : 64 Question Id : 92090611613 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



»f T Refml ‘wf Noe TR SDIH THREFAT RUMMETa ACTTTMT LT3 RRIMRT -

1. Wz crar
2. wiag apecn
3. WINEE SEae

4. wWies em

b 97 G=TESl fE (9% (o (e el S g eml (T e

1. CHoeadt s
2. CoreEdl e
3. CFeETI AN

4. CAHETRIETS

Options :

92090645853. 1
92090645854. 2
92090645855. 3
92090645856. 4

Question Number : 65 Question Id : 92090611614 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘WEeTH B MBEFODC ACHMMET -

1. 2HAMEF BrarTALHRY O
2. SRERAE Ble TEROWRE O
3. SRR Sfo-THeERe

4. DPTRE FERE
CGW @ AR 2rviFW —

1. oI35 Rramp=ig =
3. oNeE HrEHPE
4. (AP FCAMHRT

Options :
92090645857. 1



92090645858. 2
92090645859. 3
92090645860. 4

Question Number : 65 Question Id : 92090611614 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘BEeTH B MBEFODC ATHMMET -

. 2RMER BTE THALHERL DR
2. SRERAE BlETEROWRE OME
3. 2R0EF Sl -THEERE

4. PITE FBNE
(G g HAeER 2T —

1. SiE7R Rcamgaa ==
3. oEE MrEmPNE
4. (AP FCAMHRT

Options :

92090645857. 1
92090645858. 2
92090645859. 3
92090645860. 4

Question Number : 65 Question Id : 92090611614 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



‘BETHR ¥ MEOIC ATHTIME -

1. 2RMBF Bl CHQERE ONFK
2. CRERE BlATROWRE ONF
3. SROEF Sfo-THERE

4. DICE RENE

‘(G g ANE Tl -

1. eZoR RramgE ==

3. oeE RuemPpae

4. (AP AR
Options :

92090645857. 1
92090645858. 2
92090645859. 3
92090645860. 4

Question Number : 66 Question Id : 92090611615 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A:
*  FATORMF 8¢ OF XAR RROM OAIBRT TN DTNf RA DHT e I

o B Sb W1 BRIBT TG O TSI (A JICT (A2 ST |

Reason R:
*  TRWN DTWf NA RV THREH RFRE OATBRE THTE OATEZ BRI

o TSI A 10T I1o1 Sval Wewdl Az ifFdl Alfze) (F13 |

In the light of the above statements, choose the most appropriate answer from the
options given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A

3. A s correct but R is not correct

4. A is not correct but R is correct



Options :

92090645861. 1
92090645862. 2
92090645863. 3
92090645864. 4

Question Number : 66 Question Id : 92090611615 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A:
*  TATORMF 8¢ OF XATR RROM OABRR TWPTON DTNf RA DHT =7

o 3 Sb S BRIBT G AZOA! SHCSIR CETIA GI1CT (AT S |

Reason R:
o TN DTNf NA RV THEH RF0E OATBRE THTE OATERZ BH I

o TSI (A 91CT ST Sal Wewdl 2o Sifdl Alfzey (13 |

In the light of the above statements, choose the most appropriate answer from the

options given below
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. A s correct but R is not correct
4. A is not correct but R is correct
Options :
92090645861. 1
92090645862. 2
92090645863. 3
92090645864. 4

Question Number : 66 Question Id : 92090611615 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A:
*  FATORMF 8¢ OF XAR RROM OAIBRT TN DTNf RA DHT e I

o B Sb W1 BRIBT TG O TSI (A JICT (A2 ST |

Reason R:
*  TRWN DTWf NA RV THREH RFRE OATBRE THTE OATEZ BRI

o TSI A 10T I1o1 Sval Wewdl Az ifFdl Alfze) (F13 |

In the light of the above statements, choose the most appropriate answer from the

options given below
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. A s correct but R is not correct
4. A is not correct but R is correct
Options :
92090645861. 1
92090645862. 2
92090645863. 3
92090645864. 4

Question Number : 67 Question Id : 92090611616 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A:
e ‘OCRCIIM SRefTEf MEHERM ROk BRHE, CTHE, KON TIOET Rl MI% FHIWCT I

o TWNAE FSEH! AFTAM 7 FIAGAL, T, T A12q T AF3 e |

Reason R:
o ok J3f IR dwlel BRTAEE RMeT OCKCIIE TemTRf |

o ] (FINI LTI XFAL] Framead A FAE (A |

In the light of the above statements, choose the most appropriate answer from the

options given below
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. A s correct but R is not correct
4. A is not correct but R is correct

Options :

92090645865. 1
92090645866. 2
92090645867. 3
92090645868. 4

Question Number : 67 Question Id : 92090611616 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A:
e ‘OCRCIIM SRefTEf MEHERM ROk BRHE, CTHE, KON TIOET Rl MI% FHIWCT I

o TWNAE FSEH! AFTAM 7 FIAGAL, T, T A12q T AF3 e |

Reason R:
o ok J3f IR dwlel BRTAEE RMeT OCKCIIE TemTRf |

o ] (FINI LTI XFAL] Framead A FAE (A |

In the light of the above statements, choose the most appropriate answer from the

options given below
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. A s correct but R is not correct
4. A is not correct but R is correct

Options :

92090645865. 1
92090645866. 2
92090645867. 3
92090645868. 4

Question Number : 67 Question Id : 92090611616 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A:
e ‘OCRCIIM IRefTEf MEHERT ROk BRHE, CCHE, KON TIOET Rl MI% FHIWCT I

o SN AR AP £ FIAVEL, WAL, T A3 WY AFS S |

Reason R:
o ok J3f IR dwlel BRTAEE RMeT OCKCIIE TemTRf |

o ] (FINI LTI XFAL] Framead A FAE (A |

In the light of the above statements, choose the most appropriate answer from the

options given below
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. A s correct but R is not correct
4. A is not correct but R is correct

Options :

92090645865. 1
92090645866. 2
92090645867. 3
92090645868. 4

Question Number : 68 Question Id : 92090611617 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R
Assertion A:

e BfON BHIMEIT WINT ENT KR T I

ToR 5% TWHT T re A mef |
TAASH REERATIHT KT Oeemet |l

o fPg OIZqEANIA T A CIRREA |
"1 341 QUL (HIFT (1T Lot |
SIS e el 341 (A |

Reason R:
o [EANEH RE°TRECIH OM°DWRD %58 THECTT I

o MY AEARGE CHTALOAF 541 540 |

In the light of the above statements, choose the most appropriate answer from the
options given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A

3. A iscorrect but R is not correct

4. A is not correct but R is correct

Options :

92090645869. 1
92090645870. 2
92090645871. 3
92090645872. 4

Question Number : 68 Question Id : 92090611617 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R
Assertion A:

e BfON BHIMEIT WINT ENT KR T I

ToR 5% TWHT T re A mef |
TAASH REERATIHT KT Oeemet |l

o fPg OIZqEANIA T A CIRREA |
"1 341 QUL (HIFT (1T Lot |
SIS e el 341 (A |

Reason R:
o [EANEH RE°TRECIH OM°DWRD %58 THECTT I

o MY AEARGE CHTALOAF 541 540 |

In the light of the above statements, choose the most appropriate answer from the
options given below
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. A iscorrect but R is not correct
4. A is not correct but R is correct
Options :
92090645869. 1
92090645870. 2

92090645871. 3
92090645872. 4

Question Number : 68 Question Id : 92090611617 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R
Assertion A:

e BfON BHIMEIT WINT ENT KR T I

ToR 5% TWHT T re A mef |
TAASH REERATIHT KT Oeemet |l

o fPg OIZqEANIA T A CIRREA |
"1 341 QUL (HIFT (1T Lot |
SIS e el 341 (A |

Reason R:
o [EANEH RE°TRECIH OM°DWRD %58 THECTT I

o MY AEARGE CHTALOAF 541 540 |

In the light of the above statements, choose the most appropriate answer from the
options given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A

3. A iscorrect but R is not correct

4. A is not correct but R is correct

Options :

92090645869. 1
92090645870. 2
92090645871. 3
92090645872 4

Question Number : 69 Question Id : 92090611618 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A:
* FHRUABI BHER TONIE RITENEC ACRTIN axefmer |

o (CEAMIY FET SHTeTS NF ST FriFll SREEF |

Reason R:

® ZANKEF UBERMMRCELT RHEI RIORE F4WMf Rexlasd BER RUMMeTR EAKANT AT ACT
AEFT R I

o TN WAGHA] N2 T TG (AGAIY P17 T YIZvaN 22 2] TCAE |

In the light of the above statements, choose the most appropriate answer from the
options given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A

3. A iscorrect but R is not correct

4. A is not correct but R is correct

Options :

92090645873. 1
92090645874. 2
92090645875. 3
92090645876. 4

Question Number : 69 Question Id : 92090611618 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A:
® KEC#ABd HER TOWSH RITHEBEC ACRIIR axefmerl i

o (CEHMAY T ST o srIFA AR |

Reason R:

* ZANKEF UBEARMMRTAAT RHET RIORT F4WM FexCasd BER RUMMETR EREANT AT ATT
ACTT R I

o TN FAGHA] B TP TG (ALY P17 7w Y1299 32 201 ICH |

In the light of the above statements, choose the most appropriate answer from the
options given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A

3. A is correct but R is not correct

4. A is not correct but R is correct

Options :



92090645873. 1
92090645874. 2
92090645875. 3
92090645876. 4

Question Number : 69 Question Id : 92090611618 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A:
¢ REUASI BHER TONIE RITENET ACRTIN axefmef |

o (CIEAMIY FET ST NFST] SriFel S2EEF |

Reason R:

*  ZANKER CBERMRTCEAT RBET RIOFEC TP ReXLHBd BER RUMMATR TRRFANT BAT ATC
et ol

o SIS ARGHAEHAT AFCEE NP WG| MY 17 A1 4120 32 201 eI |

In the light of the above statements, choose the most appropriate answer from the
options given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A

3. A is correct but R is not correct

4. A isnot correct but R is correct

Options :

92090645873. 1
92090645874 2
92090645875. 3
92090645876. 4

Question Number : 70 Question Id : 92090611619 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A:
o o RFEMIRT ROEMF TFK TAMN ROEF RalDRIS’ o THae |

o %0 Yfreae CNREN 83 Sl CNIRE Yeafe %6 @30 |

Reason R:
* RF TRR RPEMF BRET 39F 2050 @i TRRTRT I

o 10T ST (IR TN A6 T F61S ST |

In the light of the above statements, choose the most appropriate answer from the

options given below
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. A s correct but R is not correct
4. A is not correct but R is correct
Options :
92090645877. 1
92090645878. 2
92090645879. 3
92090645880. 4

Question Number : 70 Question Id : 92090611619 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A:
o o RFEMIRT ROEMF TFK TAMN ROEF RalDRIS’ o THae |

o %0 Yfreae CNREN 83 Sl CNIRE Yeafe %6 @30 |

Reason R:
* RF TRR RPEMF BRET 39F 2050 @i TRRTRT I

o 10T ST (IR TN A6 T F61S ST |

In the light of the above statements, choose the most appropriate answer from the

options given below
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. A s correct but R is not correct
4. A is not correct but R is correct
Options :
92090645877. 1
92090645878. 2
92090645879. 3
92090645880. 4

Question Number : 70 Question Id : 92090611619 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A:
o o RFEMIRT ROEMF TFK TAMN ROEF RalDRIS’ o THae |

o %0 Yfreae CNREN 83 Sl CNIRE Yeafe %6 @30 |

Reason R:
* RF TRR RPEMF BRET 39F 2050 @i TRRTRT I

o 10T ST (IR TN A6 T F61S ST |

In the light of the above statements, choose the most appropriate answer from the

options given below
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. A s correct but R is not correct
4. A is not correct but R is correct
Options :
92090645877. 1
92090645878. 2
92090645879. 3
92090645880. 4

Question Number : 71 Question Id : 92090611620 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A:

o “mfeml Tfrewper Afesf Ped SNt C4El THE TRY-TM RER4ATIE AHTNRBCrI”
ARRIBHRT AE SmemTr i

o <[5 PAbal B (SHal T ARF] 839 SRITHA (LT (Bl TEEET e
BlCRIET

Reason R:

¢ RUMMET IFRRAT KUIMaT DT THal OATBR REWHTE AUTRIE TIRETE ARG TRER AOCH
BTARIICT I

o I Rrabal 3 core S AiEey bledesl (aiesfal Rrabe wistaesi (aa Sl i3ef |

In the light of the above statements, choose the most appropriate answer from the
options given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A

3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

92090645881. 1
92090645882. 2
92090645883. 3
92090645884. 4

Question Number : 71 Question Id : 92090611620 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A:

o “mfeml Tfrewper Afesf Ped SNt C4El THE TRY-TM RER4ATIE AHTNRBCrI”
ARRIBHRT AE SmemTr i

o <[5 PAbal B (SHal T ARF] 839 SRITHA (LT (Bl TEEET e
BlCRIET

Reason R:

¢ RUMMET IFRRAT KUIMaT DT THal OATBR REWHTE AUTRIE TIRETE ARG TRER AOCH
BTARIICT I

o I Rrabal 3 core S AiEey bledesl (aiesfal Rrabe wistaesi (aa Sl i3ef |

In the light of the above statements, choose the most appropriate answer from the
options given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A

3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

92090645881. 1
92090645882. 2
92090645883. 3
92090645884. 4

Question Number : 71 Question Id : 92090611620 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A:

o “mfeml Tfrewper Afesf Ped SNt C4El THE TRY-TM RER4ATIE AHTNRBCrI”
ARRIBHRT AE SmemTr i

o <[5 PAbal B (SHal T ARF] 839 SRITHA (LT (Bl TEEET e
BlCRIET

Reason R:

¢ RUMMET IFRRAT KUIMaT DT THal OATBR REWHTE AUTRIE TIRETE ARG TRER AOCH
BTARIICT I

o I Rrabal 3 core S AiEey bledesl (aiesfal Rrabe wistaesi (aa Sl i3ef |

In the light of the above statements, choose the most appropriate answer from the
options given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A

3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

92090645881. 1
92090645882. 2
92090645883. 3
92090645884. 4

Question Number : 72 Question Id : 92090611621 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A:
¢ WIWN RUMPOINIR KUfMal ST JovEHes ©KE RATR'E XATA’ & WHE se82 Tf I

o TIETFO] YHSHOR! FCI=RT (ST SIFer @311 AR 521 3¢ FH& 3538 |

Reason R:
o  REMEl OAIBRN TATE RepafEeeoTn FEOFTTR ERFSIME REEMT ‘Opekr’ ef |

o SR ARSI SRl AP (GAIFO YIBAFAT HIEAA “Riawpl 7 |

In the light of the above statements, choose the most appropriate answer from the

options given below
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct
4. A 1s not correct but R is correct
Options :
92090645885. 1
92090645886. 2
92090645887. 3
92090645888. 4

Question Number : 72 Question Id : 92090611621 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A:
¢ WIWN RUMPOINIR KUfMal ST JovEHes ©KE RATR'E XATA’ & WHE se82 Tf I

o TIETFO] YHSHOR! FCI=RT (ST SIFer @311 AR 521 3¢ FH& 3538 |

Reason R:
o  REMEl OAIBRN TATE RepafEeeoTn FEOFTTR ERFSIME REEMT ‘Opekr’ ef |

o SR ARSI SRl AP (GAIFO YIBAFAT HIEAA “Riawpl 7 |

In the light of the above statements, choose the most appropriate answer from the

options given below
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct
4. A 1s not correct but R is correct
Options :
92090645885. 1
92090645886. 2
92090645887. 3
92090645888. 4

Question Number : 72 Question Id : 92090611621 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A:
¢ WIWN RUMPOINIR KUfMal ST JovEHes ©KE RATR'E XATA’ & WHE se82 Tf I

o TIETFO] YHSHOR! FCI=RT (ST SIFer @311 AR 521 3¢ FH& 3538 |

Reason R:
o  REMEl OAIBRN TATE RepafEeeoTn FEOFTTR ERFSIME REEMT ‘Opekr’ ef |

o SR ARSI SRl AP (GAIFO YIBAFAT HIEAA “Riawpl 7 |

In the light of the above statements, choose the most appropriate answer from the
options given below
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct
4. A is not correct but R is correct
Options :
92090645885. 1
92090645886. 2
92090645887. 3
92090645888. 4

Question Number : 73 Question Id : 92090611622 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I:

ot TfId CHSTIRT ReTORER ¢6% X EFST BT

o TS [ AISRALTAI LB Lbo 71 FHE S|

Statement II:
ewzfmwnms Skeersial RRam xeef |
ST CTCARI (AR 5 |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect

4. Statement | is incorrect but Statement Il is correct
Options :
92090645889. 1
92090645890. 2



92090645891. 3
92090645892. 4

Question Number : 73 Question Id : 92090611622 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I:

o Fo UfOT CHIORD RafORER €68 5 EFEI BT I
o (TS e SRR YBIS wbo T T S|
Statement Il:

o Cuzfmwmmt Swecrstar RBem Xoor i
o SIGMATAIAN (A CEAI Beyfe |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect

4. Statement | is incorrect but Statement Il is correct
Options :
92090645889. 1
92090645890. 2
92090645891. 3
92090645892. 4

Question Number : 73 Question Id : 92090611622 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I:

o R0 UIOT CHLORD REfORER €68 5 EFZI BXRS I
o (TS LT AU YBIF Lo 7T FHRT S|
Statement lI:

o Cuzfmwnmf Sweersial RRm xoor |
o ST (A CEAMR Begf+ |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect

4. Statement | is incorrect but Statement Il is correct
Options :



92090645889. 1
92090645890. 2
92090645891. 3
92090645892. 4

Question Number : 74 Question Id : 92090611623 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I:

o 2WF ABAW HWEWE RO I
o <TIAP I FAT WG T |

Statement Il:

o 2WIT ARMET W MESIMf FMTE RC I
o T Rl A AR ARG A< |

In the light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement |is incorrect but Statement Il is correct

Options :

92090645893. 1

92090645894. 2

92090645895. 3
92090645896. 4

Question Number : 74 Question Id : 92090611623 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I:

o 2UF ABAW HERE RO I
o CTILEP QTGN T LGl |

Statement II:

o 2mIT AReME’ 2W MM RMTE RC |
o TP el A AT HAG 42T |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement |l is correct

Options :

92090645893. 1
92090645894. 2
92090645895. 3
92090645896. 4

Question Number : 74 Question Id : 92090611623 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I:

o 0B ARAW EENE RT I
o <TIED QT TR LGl |

Statement II:

o 2MIT ARME’ W MESTM FMTE RC I
o <TG ZIHIW AL AN TAY AT |

In the light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is correct

Options :

92090645893. 1

92090645894 2

92090645895. 3
92090645896. 4



Question Number : 75 Question Id : 92090611624 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I:

o  “ary O JHWT/ THEITE NEAT/ TARER WCIIME" ARRZaI W37 ERBGINF RE5CF |

o <] HIRAT (o] / ARG TIGWS] / ST (P 2T G YI24F BT |

Statement II:

o  “RRO JB% THBT e/ WHKT KIS WHAT” ARRITAT W5 TAFSHF ORTTTS I
o G (I A IR / CHIZIT 3 CARRRT SR S ST A |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement |l are incorrect
3. Statement |is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement Il is correct
Options :
92090645897. 1
92090645898. 2

92090645899. 3
92090645900. 4

Question Number : 75 Question Id : 92090611624 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement |I:

o “Camry 4N JHNT/ CHEITE NEHT/ UARER WCIIE" ARRZHI W37 ERBSIMF RE5CF |

o < HIRAT CEEIA] / TR W/ SLEEN] (oA AW G Y12 51 |

Statement II:

o  “RRO JB% THBT 42/ WHKT KIS WHAE” ARRITAT W5 THFSHF ORETTATT I
o UG LTI AR T / CHIZIHT 3& CARREP ZIRW S ST Sl |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is correct
Options :

92090645897. 1
92090645898. 2



92090645899. 3
92090645900. 4

Question Number : 75 Question Id : 92090611624 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I:
o “Camry 4N JHNT/ CHEITE NEHT/ UARER WCIIE" ARRZHI W37 ERBSIMF RE5CF |
o < HIRAT (FHIA] / TR T / ST (FAd ST AW S Y12 51 |

Statement II:

o  “RRO J@% THBT e/ WHKT KIS WHAT” ARRITAT WET THFSH ORaTTATS I
o UG LTI AR T / CHIZIHT 3& CARREP ZIRW S ST Sl |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is correct
Options :
92090645897. 1
92090645898. 2

92090645899. 3
92090645900. 4

Question Number : 76 Question Id : 92090611625 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I:

o QEr3fa ey TONE W3 AKC R I

o TG TSN R 2T 26T |

Statement Il:

o RESHEF FEERA TOWE WIT vsee |
o ST 2CAMDIM SIS FE ACE |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is correct

Options :



92090645901. 1
92090645902. 2
92090645903. 3
92090645904. 4

Question Number : 76 Question Id : 92090611625 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I:
o O@fEfarTE TOSE W3’ AR RU I
o FACEY TS R 2T AT |

Statement lI:

o  RECHIF FEERA TOFE WST T3e |
o YACTEN SCAADIM TG F G |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is correct
Options :
92090645901. 1
92090645902. 2

92090645903. 3
92090645904. 4

Question Number : 76 Question Id : 92090611625 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I:

o QEf3fe T TONE W3 AKC R I

o HANEY TG 1 2T A6 |

Statement Il:

o  RESHIF FEERA TOWE WST vxee |
o YACTHA SCAMADIM SHIGH FG WG |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is correct



Options :

92090645901. 1
92090645902. 2
92090645903. 3
92090645904. 4

Question Number : 77 Question Id : 92090611626 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I:
o ‘Hier3 @R3E RCIMAr KRIAO TROD OB SN Rues Srafwes |
o CCHRNAE FHNAP Ao BRI w2 ALF AN Siesl ekl |
Statement II:

o ‘Hie*3 mE3E @ lozrofmmt MER5 kRE KT KOS TKT KOFIET I
o SCBRIEE FFRPTI AR AR o7 72 1S 131 3f41feT |

In the light of the above statements, choose the most appropriate answer from the options given below:

Both Statement | and Statement Il are correct
Both Statement | and Statement Il are incorrect
Statement | is correct but Statement Il is incorrect
4. Statement |is incorrect but Statement Il is correct

w N

Options :

92090645905. 1
92090645906. 2
92090645907 3
92090645908. 4

Question Number : 77 Question Id : 92090611626 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I:
o ‘Hier3 @mE3E RCIMAr KBIAO TROD CoBwINf Bues Srafwef |
o CCORIAE FHAP Ao SO w2 ALFfSAN Sieel MRl |
Statement II:

o ‘Wi mE3E @ Clozofmmt MER5 RRE KT KOS CKT KOfIaf I
o SCHRNEE FFRPF LA =41 o7 72 1@ 131 341f |

In the light of the above statements, choose the most appropriate answer from the options given below:

Both Statement | and Statement Il are correct
Both Statement | and Statement Il are incorrect
Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is correct

w N

Options :

92090645905. 1
92090645906. 2
92090645907 3
92090645908. 4

Question Number : 77 Question Id : 92090611626 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I:

o ‘Wie*I @E3E KCMMAT FIIAC TROD CoBef»ivf Bues 2xafmef |

o COUIHE FERP A7 2ZRT S Ao She el ARfE |
Statement II:

o ‘Wi @E3E @ Cfoz'ofmmf MCRls KRR KT KOS CKC KOrIaf |

o <CHRITART TR WL AWRE! oo AL F18 1541 34T |

In the light of the above statements, choose the most appropriate answer from the options given below:

Both Statement | and Statement Il are correct
Both Statement | and Statement Il are incorrect
Statement | is correct but Statement Il is incorrect
4. Statement | isincorrect but Statement Il is correct

W N

Options :

92090645905. 1
92090645906. 2
92090645907 3
92090645908. 4



Question Number : 78 Question Id : 92090611627 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I:

o ‘OCRTMI, ‘Bfak OTIMST, ‘AF CONE XIDTIHE KAV KBFR FAFE Kl rofmes |

o AN, REID HFACSP, I (ISP LT NG Towm] S sz |

Statement II:

o XIOTHE KAV RBFR FOFE KIS OB Thal 3oma 2emf X3 Tef TT ITT
ofcfeTe ke I

o (oeITRIET NG TOTM] S SIS AL S Al (TN G102 Sl =fall 2fal ey |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement |is incorrect but Statement Il is correct
Options :
92090645909. 1
92090645910. 2

92090645911. 3
92090645912. 4

Question Number : 78 Question Id : 92090611627 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I:

o ‘OCRCMI, ‘Bfa OTIMST, ‘GF CONE XIDTICHE KA EBFR FOFE xefrofnes |
o TR, RED AT, AT HRT BRI TR T 299 AR e |

Statement II;

o XIOTWHE RAGCH RIFR KOFE KIS GoEafs Thal oM 2Tmf X7 TTf MET TTT
ofefetarkr |

o ToRReTATST TRHIE IO ZA] FIAS | FAIFS SN I (AN 102 S 7T S M |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is correct



Options :

92090645909. 1
92090645910. 2
92090645911. 3
92090645912. 4

Question Number : 78 Question Id : 92090611627 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I:
o ‘OCRCII, ‘BfA OTIMST, ‘BF CUNE XIDTICHE RASCI RIFR FAFS Sralrofmet |
o TR, A AT, AT R BRI TR o e R |
Statement II:

o  XIOTWHE RAGTM ERFR FOFE KIS CGomafs Thal 3oma 2Tnf X3 Tl MTT INTT
OfZfTTeFRe I

o ToeeTAT RGN TN ZH SIAE FALFS ST A (AN LT Sl 7T S M |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is correct
Options :
92090645909. 1
92090645910. 2

92090645911. 3
92090645912. 4

Question Number : 79 Question Id : 92090611628 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement I:

TSR TWES KX BIUNE B3y TAMDS E'5 i

o TLETWI ST Wy 1Y T2 WA Ty (F12 |

Statement II:

ORI KX KT A033 Bl =X &5 i

*TsiieT S 1 eledq (I TG (F13 |

In the light of the above statements, choose the most appropriate answer from the options given below:

Both Statement | and Statement Il are correct
Both Statement | and Statement Il are incorrect
Statement | is correct but Statement Il is incorrect
Statement | is incorrect but Statement Il is correct

g g B B

Options :

92090645913. 1
92090645914. 2
92090645915. 3
92090645916. 4

Question Number : 79 Question Id : 92090611628 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I:

o  WAER TKF R BIUNE BEL THIOS BHI

o TSI ST Ay 1Y FIGe WL W (FI3 |
Statement II:

o O KX KT AUFE B KX &5

o ST Ay A1 8169 (FIE 3 (2 |

In the light of the above statements, choose the most appropriate answer from the options given below:

Both Statement | and Statement Il are correct
Both Statement | and Statement Il are incorrect
Statement | is correct but Statement Il is incorrect
Statement | is incorrect but Statement Il is correct

. B B

Options :

92090645913. 1
92090645914. 2
92090645915. 3
92090645916. 4

Question Number : 79 Question Id : 92090611628 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I:

CA'ER THE RX BIUNE B3 TAIDS B

UG ST A P T2 2L T (F1E |

Statement II:

ORI KX KT AUFE Bl kX B

*Toie WG 31 81edq (FE Ty (F13 |

In the light of the above statements, choose the most appropriate answer from the options given below:

Both Statement | and Statement Il are correct
Both Statement | and Statement Il are incorrect
Statement | is correct but Statement Il is incorrect
Statement | is incorrect but Statement Il is correct

. B

Options :

92090645913. 1
92090645914. 2
92090645915. 3
92090645916. 4

Question Number : 80 Question Id : 92090611629 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I:
*  ‘REME AREOIR ETCPTCH WSSOI RFHC I
o HUP IR (FICHIGTS F907 MG |
Statement Il:
* ‘R’ ARFOIR BTOHPTTH OTERTO REK

o ‘BIFP SR (FICHD AT q183 |

In the light of the above statements, choose the most appropriate answer from the options given below:

Both Statement | and Statement Il are correct
Both Statement | and Statement Il are incorrect
Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is correct

W M=

Options :

92090645917. 1
92090645918. 2
92090645919. 3
92090645920. 4



Question Number : 80 Question Id : 92090611629 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I:
*  ‘REME AREOIR ETCPTCH WSOTE RNFFRC I
o <HWP IR (IICHIGFS F09 TS |
Statement Il:
o  ‘REA ARFOMA BTOTTY OFEFPTO Rk

o ‘BIFr TIROWMI (IS HFIEs e |

In the light of the above statements, choose the most appropriate answer from the options given below:

Both Statement | and Statement Il are correct
Both Statement | and Statement Il are incorrect
Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is correct

W M=

Options :

92090645917. 1
92090645918. 2
92090645919. 3
92090645920. 4

Question Number : 80 Question Id : 92090611629 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I:
e ‘REME AREOIR ETCOPTCE WSO RERC I
o HWP M (PICHIFS F969 WG |
Statement Il:
e ‘NEA ARFOF ETOPTTN OMERCEN REK

o ‘BIIT SR (FICHAD AFICIS Te3 |

In the light of the above statements, choose the most appropriate answer from the options given below:

Both Statement | and Statement Il are correct
Both Statement | and Statement Il are incorrect
Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is correct

W M=

Options :
92090645917. 1
92090645918. 2



92090645919. 3
92090645920. 4

Question Number : 81 Question Id : 92090611630 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:Tran.

Statement I:
¢ FERTW OAIBRE ACRTSHN BATFER BNt REF 25C el
o WS ARSIl FrHLHTEN ferafefehM e carZ teie |
Statement II:

Eafenin RelE FPOTER AEFRTN CAIBRn RO CorRl i

o (Erafes g caomam arwiel AfEsh 612 o |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is correct
Options :
92090645921. 1
92090645922. 2

92090645923. 3
92090645924. 4

Question Number : 81 Question Id : 92090611630 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:Tran.

Statement I:

e  FERDIM OAPRH ACROSHLT Bl Afwint REE T°5C w1

o W@ ATl IrMCHIE (Erafcfeha s (UEH! (e |

Statement II:

s  @EalEnin AerE FOCER ACKRIN Cnfment RO Cork’ i
o [Frafos gk« caeaawl ST ATesa 5ie o |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is correct

Options :



92090645921. 1
92090645922. 2
92090645923. 3
92090645924. 4

Question Number : 81 Question Id : 92090611630 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:Tran.

Statement I:
¢  FERTW OAIPRR ACRTSHN BETReRIAfwint REF 25T el
o ICEEE AETSTHI ZCACFTRN (FCSrS b T (2] (S |
Statement Il:

e @EETERT NOTH PICER ACRTW OATERMT RO TRk

o [Trafes 96F Cueaawl TrwEl AfTEE 512 T |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is correct

Options :

92090645921. 1
92090645922. 2
92090645923. 3
92090645924. 4

Question Number : 82 Question Id : 92090611631 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I
s  RROIx BORIC TOf B°EHYT THTSFRS I
o WATEH! I S (TG GZFT |

Statement II:
o ATl doxie Tof RT ©Keae
o (G TR S BNl Q344 |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is correct
Options :
92090645925. 1
92090645926. 2

92090645927. 3
92090645928. 4

Question Number : 82 Question Id : 92090611631 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I:
s  RROdZ BORIC TOf BEET TRTLFRE I
o IR ST S (S ST |

Statement II:
o  AZIrRf BORfe Tof RT ©@Keee |
o (C2GI@ T S BT 834 |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement |is incorrect but Statement Il is correct
Options :
92090645925. 1
92090645926. 2

92090645927. 3
92090645928. 4



Question Number : 82 Question Id : 92090611631 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement [:
o  RRIdE BORIC TOf BEHET THTLFRS I
o TITGH FILE S (PG @2 |
Statement II:
o ATl BORfT Tof RT ©RTa° |
o (2l S S BT 9% |

In the light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement |is incorrect but Statement Il is correct

Options :

92090645925. 1

92090645926. 2

92090645927. 3
92090645928. 4

Question Number : 83 Question Id : 92090611632 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I:
o  MERDR 3OR RENFAE KIOT, THOTFTIIOE T4SF TN ROT RIW T4RT Tk T30 TR 7°EC
REs
o =IGCHHAT [E @ BOMAIRT THE, CAIPIoE! CoISET S S STl CoHIRBIe ST =asi Sl (2] JeE |
Statement II:

¢ MEROC PONFES KIOF TXE A°CC R%I RIAIE |

o ABCYIL CFTeSTAIRA Te Sq (Za1 4T Weiafa |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement Il is correct
Options :
92090645929.
92090645930.

92090645931.
92090645932.

AW N =



Question Number : 83 Question Id : 92090611632 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I:
o  MERDR O ©ENFNE KIOT, TMHOTTIIOE TC4SF TN ROT BIW 4RI T THRem TRIM 7T
3= 31
o SNGTYIl REE ¢ SRR Tei, CoIe=pbeam CoMleaTsl S T4 SIFl CofIRETF sl wegs| Sl (24l 7eF |
Statement II:

¢  MERDC PODMFEE KIOT TXF A°CT RRI RIAIET |

o AT CHTSATAIAA 1< ©Iq CZH1 1< $o1fe |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement|is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is correct

Options :

92090645929. 1
92090645930. 2
92090645931. 3
92090645932. 4

Question Number : 83 Question Id : 92090611632 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I:
o  MERDR 3OR RENFAE KIOT, THOTFTIIOE T4SF TN ROT RIW T4RT Tk T30 TR 7°EC
REs
o GO R S TCAIERT T, Cofepfoedt CHIET S T ST (AIRBT S Se@sll Sl (2] Me3 |
Statement II:

¢ MEROC PONFEs RIOF THE A°CC NWI RIAIE 1

o ABCYIL CFTeSTAIRA Te Sq (Za1 4T Weiafa |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement Il is correct
Options :
92090645929. 1
92090645930. 2

92090645931. 3
92090645932. 4



Question Number : 84 Question Id : 92090611633 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement |:
e TITTIMMSE &) OFMERS PN TRERFSTr |
o TfSHqe® T TRV CAEiesT 2ffFraf |

Statement II:

o WIATCSMMNT OB’ KOFR FOTE IHelmyl ‘TIressiesn ef |

o Tfodud TG TTA] 399 I3 ‘SfeIqSgor o |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2.  Both Statement | and Statement Il are incorrect
3.  Statement | is correct but Statement Il is incorrect

4. Statement | is incorrect but Statement Il is correct
Options :
92090645933. 1
92090645934 2
92090645935. 3
92090645936. 4

Question Number : 84 Question Id : 92090611633 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement [:
o WIATCEMINT B0 OFREERS TN INCHTTS |
o SIS T WY CASAAT 2 A |

Statement II:

o TIAfCENMSNT QOB ROFR FOFE SHafIrsf ‘@nfesies of |

o  TfSEed TG T 399 FI3E@E ‘S gor 7 |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect

4.  statement | is incorrect but Statement Il is correct
Options :
92090645933. 1
92090645934. 2
92090645935. 3



92090645936. 4

Question Number : 84 Question Id : 92090611633 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement [:
o TWIATCEMINT B0 OFMARS OTUHIN INEHFHTT I
o TiSIEE T WY CASAT A |

Statement II:

o TIAfCEVMRNT QOB ROFR FOFE SHafref ‘Tifesies’ of |

o  TfSEed IS¢ T 299 FIsH@ ‘Sfeaeger 7 |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect

4.  statement | is incorrect but Statement Il is correct
Options :
92090645933. 1
92090645934. 2
92090645935. 3
92090645936. 4

Question Number : 85 Question Id : 92090611634 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement |I:

o Of2 33 RHEIOIRT O TAFDIT REETR 25 I
o RS YT P ST (ARP] FACAET A2 |

Statement lI:
o (f2°3I THRH M RIHRE 37° I

o IS vl 91 8w TITH |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement |is correct but Statement Il is incorrect
4. Statement |is incorrect but Statement Il is correct

Options :
92090645937. 1



92090645938. 2
92090645939. 3
92090645940. 4

Question Number : 85 Question Id : 92090611634 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I
o Of2°3I RAIDKRT OLT TAFSI'T KBTI 525 1
o PeRe Yewe W< S (AT YEIEHA A3 |
Statement I1:

o (F2°BI THH MIMT RIHRE 537° I

o PIEAE Ml 91 AMewd TITH |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement |is incorrect but Statement Il is correct
Options :
92090645937. 1
92090645938. 2

92090645939. 3
92090645940. 4

Question Number : 85 Question Id : 92090611634 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I:
o Of2°33 RHRIORT OPT TAFDIT REFTIR 25 I
o e Yfaese W9 Sy CUIF] WA 1 |
Statement II:

o (F3°8I THRH MIT RIRE 535° I

o AT ST fofg Are e TITH |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement |is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement |l is correct



Options :

92090645937. 1
92090645938. 2
92090645939. 3
92090645940. 4

Question Number : 86 Question Id : 92090611635 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I:
o  ZEfOWMN ¢¢ WA S8 OF XARM RCimMe! OAfBea »Afex 2xefom kel JTs xafrofs
AT THCE K7 S0l I
o B b S b5 F1 62BN Wi Azl forw snEfesl N8 (et e qrEe e HeQ
¢ |
Statement Il:

o FEOWML 50 TRaA! 88 OB RATRM RUIMal OAfEaER Rafm D€ Tha! OATEEM kef s
ARTOND ATRTWN THES 57 R4TEweT |

o 3BT 30 Tl 35 T GBI AR Aoy Zeferh o S ATy W Lol R qrAHN
S 2 RS |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect

4. Statement | is incorrect but Statement Il is correct
Options :
92090645941. 1
92090645942 2
92090645943 3
92090645944 4

Question Number : 86 Question Id : 92090611635 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I:
o  ZEfOWMN ¢¢ WA S8 OF XARM RCimMe! OAfBea »Afex 2xefom kel JTs xafrofs
AT THCE K7 S0l I
o B b T O I BRIGIN WS ARl 2 wifEfea W1 (TRl AR 2rAEAN S A
¢ |
Statement Il:

o FEOWML 50 TRaA! 88 OB RATRM RUIMal OAfEaER Rafm D€ Tha! OATEEM kef s
ARTOND ATRTWN THES 57 R4TEweT |

o B S0 WM 33 T GGIN WA TS FefersT (oiie wraiiw HifZwyell | (ol an2faefdie Frae=a
o] 72 BT |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect

4. Statement | is incorrect but Statement Il is correct
Options :
92090645941. 1
92090645942. 2
92090645943 3
92090645944 4

Question Number : 86 Question Id : 92090611635 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I:
o  ZEfOWMN ¢¢ WA S8 OF XARM RCimMe! OAfBea »Afex 2xefom kel JTs xafrofs
AT THCE K7 S0l I
o B b T O I BRIGIN WS ARl 2 wifEfea W1 (TRl AR 2rAEAN S A
¢ |
Statement Il:

o FEOWML 50 TRaA! 88 OB RATRM RUIMal OAfEaER Rafm D€ Tha! OATEEM kef s
ARTOND ATRTWN THES 57 R4TEweT |

o B S0 WM 33 T GGIN WA TS FefersT (oiie wraiiw HifZwyell | (ol an2faefdie Frae=a
o] 72 BT |

In the light of the above statements, choose the most appropriate answer from the options given below
1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect

4. Statement | is incorrect but Statement Il is correct
Options :
92090645941. 1
92090645942. 2
92090645943 3
92090645944 4

Question Number : 87 Question Id : 92090611636 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Insert Stem:
A. Crf4Ef RXIE KOS TARCT I

B. ®R% Cmzemsw W3 UTRi4El REKCS I
C. %R% Cmzemsw mFBmf mR weref |
D. ANU% AWCAI ER% COZWBE MM RRCf I
E. AST RNT ASAATM R I
Insert Stem:
A. R 0w 31T S |

B. I3 Jerereaw P el wwiz |

C. %1 Jere™ PRI T51 Sl |

D. 2%y 21T Y2 72rerea™ PR Jo1 |
E. 2T b Zrenez=al i |

Choose the correct answer from the options given below:

1. A,BandC Only
2. B,CandEOnly
3. B,CandD Only
4. C,DandEOnly

Options :

92090645945. 1
92090645946. 2
92090645947. 3
92090645948. 4

Question Number : 87 Question Id : 92090611636 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Insert Stem:
A. Crf4Ef RXIE KOS TARCT I

B. ®R% Cmzemsw W3 UTRi4El REKCS I
C. %R% Cmzemsw mFBmf mR weref |
D. ANU% AWCAI ER% COZWBE MM RRCf I
E. AST RNT ASAATM R I
Insert Stem:
A. R 0w 31T S |

B. I3 Jerereaw P el wwiz |

C. %1 Jere™ PRI T51 Sl |

D. 2%y 21T Y2 72rerea™ PR Jo1 |
E. 2T b Zrenez=al i |

Choose the correct answer from the options given below:

1. A,BandC Only
2. B,CandEOnly
3. B,CandD Only
4. C,DandEOnly

Options :

92090645945. 1
92090645946. 2
92090645947. 3
92090645948. 4

Question Number : 87 Question Id : 92090611636 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Insert Stem:
A. Crf4Ef RXIE KOS TARCT I

B. ®R% Cmzemsw W3 UTRi4El REKCS I
C. %R% Cmzemsw mFBmf mR weref |
D. ANU% AWCAI ER% COZWBE MM RRCf I
E. AST RNT ASAATM R I
Insert Stem:
A. R 0w 31T S |

B. I3 Jerereaw P el wwiz |

C. %1 Jere™ PRI T51 Sl |

D. 2%y 21T Y2 72rerea™ PR Jo1 |
E. 2T b Zrenez=al i |

Choose the correct answer from the options given below:

1. A,BandC Only
2. B,CandEOnly
3. B,CandD Only
4. C,DandEOnly

Options :

92090645945. 1
92090645946. 2
92090645947. 3
92090645948. 4

Question Number : 88 Question Id : 92090611637 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Insert Stem:
A. Mefywf4 RAOERF RdSSFT ACTMIN SKefmer i

B. Wmzm crE emm®I Rl

C. mWmam oenf oemrmal gafowsfacs |

D. mef3tfRz kAT RIFR Mef%l4 ACH ML I
Insert Stem:

A. RS I ALK ZCAFAT LM |

B. SISMI (37 (45T A1 |

C. M o Sceiieifn e |

D. siff e SaRea Towv! A9iEEe arwie |

Choose the correct answer from the options given below:

1. AandBOnly
2. BandCOnly
3. BandDOnly
4. Cand D Only

Options :

92090645949. 1
92090645950. 2
92090645951. 3
92090645952. 4

Question Number : 88 Question Id : 92090611637 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Insert Stem:

A. Mefyf4 RADEF RASAFT ATHMM SKfmes |

B. WMzm crE emm®I Rl

C. mWmam oenf Temrmal gafosfacs |

D. mef3tfRz kAT RWFR Mef%l4 ACHMS I
Insert Stem:

A. RS I AR ZCAFAT LM |

B. IS (37 (451 oI |

C. SEmPT G St gffEaf |

D. siff e SaRes Touvl AdiHFe arwie |

Choose the correct answer from the options given below:

1. AandBOnly
2. BandCOnly
3. BandDOnly
4. Cand D Only

Options :



92090645949. 1
92090645950. 2
92090645951. 3
92090645952. 4

Question Number : 88 Question Id : 92090611637 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Insert Stem:

A. MefRf4 RADEE RdFAFT ATHMM 2K TS |
B. mWmzm mrE emm®I wRTf |

C. mmae oremt oemmat zafowtaet |

D. maf3TfRz kAT RPFR MfRi4 ATHMYRS |

Insert Stem:
A. RS T AEEAT ICAEA T |

B. SIS (5 (35 WoifH |
C. MR A ST~ et |
D. sfffaars IZEdt Tewvl A9 e |

Choose the correct answer from the options given below:

1. AandBOnly
2. Band COnly
3. BandD Only
4. Cand D Only

Options :

92090645949. 1
92090645950. 2
92090645951. 3
92090645952. 4

Question Number : 89 Question Id : 92090611638 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Insert Stem:
A. ‘zEc GABE KRN SHOPF OREELT KBTS
B. ®RAE ‘Tar OA°FHl FEDI'R REE Haelrse THCS |
C. ‘ewme AWl KkD LRSI
D. ‘zac OA°FEl FRI'R OAMER THFRN TRER EX I

Insert Stem:
A. ‘GOG AIIF! AL TLEN FACIHAT 330+ |
B. (W ‘Gew AI(ZIH! 9L 0T WG SLAG S |
C. ‘&ow A4S 342 Tl |
D. ‘Gew AN 29 A20] IR @917 F< |

Choose the correct answer from the options given below:

1. AandBOnly
2. BandDOnly
3. Band COnly
4. AandDOnly

Options :

92090645953. 1
92090645954. 2
92090645955. 3
92090645956. 4

Question Number : 89 Question Id : 92090611638 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Insert Stem:

A. ‘z@z O7°EHEl FRD' SHOLF ORSTHEIT KBTI

B. AT Tz OA°FEf FRI'R REE I THCS |

C. ‘z@z O7°smf HRD RERC |

D. ‘zaz OA°FW! FED'R OATBR TBHF RS TRARA Exf I
Insert Stem:

A. ‘TOG AT T TLEN FACIHAT 230+ |

B. (VR ‘QOE AR IHL A G ST T |

C. ‘@G ANZIF 392 T |

D. ‘Tew ANZIS! 2HLW HZS] LA <1 F<Y |

Choose the correct answer from the options given below:

1. AandBOnly
2. BandDOnly
3. Band COnly
4. AandDOnly



Options :

92090645953. 1
92090645954. 2
92090645955. 3
92090645956. 4

Question Number : 89 Question Id : 92090611638 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Insert Stem:
A. ‘zEz OA3El KRN SKOPF OREELT KBTF I
B. ®AC Thc OABHWI FREI'R RE8 He°lI'ye TSI
C. ‘zaz Oz s@f KED HRTr |
D. ‘zac OAFEl FRI'R OAMER THERN TRER EX |

Insert Stem:
A. ‘GOG A(ZIF! T TTLEN FACILAT 330+ |
B. (W& ‘GCE AR 3N W] TGN FLITFT S |
C. ‘&ow A 342 T3l |
D. ‘Gew AN 24 HZS] I «q1 F< |

Choose the correct answer from the options given below:

1. AandBOnly
2. Band D Only
3. Band COnly
4. AandDOnly

Options :

92090645953. 1
92090645954. 2
92090645955. 3
92090645956. 4

Question Number : 90 Question Id : 92090611639 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Insert Stem:
A. TOHREPE RCDI'S FMEI DT THES RE7° I

B. TRARET RTHW Rermmf KT DR KFCT I
C. MBAPT RATORM TATE RATRR RCLSTHRT |
D. MHREWET PHRWEN T°HRS |

Insert Stem:

A. (ARSI YUEF ST AN (I Saa! Jet |

B. “CHIRLATOIN YLIF A3 el 23 |

C. CHRITSR YB3 o2l 626! LRy |
D. CAIRECSET CHIRTNLIN (AR |

Choose the correct answer from the options given below:

1. AandBOnly
2. BandCOnly
3. CandDOnly
4. AandDOnly

Options :

92090645957. 1
92090645958. 2
92090645959. 3
92090645960. 4

Question Number : 90 Question Id : 92090611639 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Insert Stem:
A. TOHREPE RCDI'S FMEI DT THES RE7° I

B. TRARET RTHW Rermmf KT DR KFCT I
C. MBAPT RATORM TATE RATRR RCLSTHRT |
D. MHREWET PHRWEN T°HRS |

Insert Stem:

A. (ARSI YUEF ST AN (I Saa! Jet |

B. “CHIRLATOIN YLIF A3 el 23 |

C. CHRITSR YB3 o2l 626! LRy |
D. CAIRECSET CHIRTNLIN (AR |

Choose the correct answer from the options given below:

1. AandBOnly
2. BandCOnly
3. CandDOnly
4. AandDOnly

Options :

92090645957. 1
92090645958. 2
92090645959. 3
92090645960. 4

Question Number : 90 Question Id : 92090611639 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Insert Stem:
A. TOHREPE RCDI'S FMEI DT THES RE7° I

B. TRARET RTHW Rermmf KT DR KFCT I
C. MBAPT RATORM TATE RATRR RCLSTHRT |
D. MHREWET PHRWEN T°HRS |

Insert Stem:

A. (ARSI YUEF ST AN (I Saa! Jet |

B. “CHIRLATOIN YLIF A3 el 23 |

C. CHRITSR YB3 o2l 626! LRy |
D. CAIRECSET CHIRTNLIN (AR |

Choose the correct answer from the options given below:

1. AandBOnly
2. BandCOnly
3. CandDOnly
4. AandDOnly

Options :

92090645957. 1
92090645958. 2
92090645959. 3
92090645960. 4

Question Number : 91 Question Id : 92090611640 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Insert Stem:
A. ‘BEe®Y ofmd’c ® ERfSMf mews K3l

B. ‘HEe®Y ® THI THOFOT B EXFEMF RAOFR 5 I
C. TwI TTOOT @ EX8 REF ‘BETH RE5 I

D. RI°EFBT EX(E H&f kOO »aTr |

Insert Stem:
A. TIFIERT AT ¢ FIREN sl 390 |

B. ‘(FEIERTW W@ Sl (F T I 3 |
C. ooe Srdiféedr (& TS TF < (SFIET v 183 |
D. itsE=l Fifeai ¢pm W= o2 |

Choose the correct answer from the options given below:

1. AandB Only
2. Band D Only
3. Band COnly
4. AandD Only

Options :

92090645961. 1
92090645962. 2
92090645963. 3
92090645964. 4

Question Number : 91 Question Id : 92090611640 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Insert Stem:
A. ‘BEe®Y CfOd’C ® ERFSMf Rews KBl

B. ‘HEe®Y ® THI THOFOT B EXFEMF RAOFR 5 I
C. TEI TTOOT @ EX8 REF ‘BEPTH NS5

D. RI°EFBT ERFE H&l kOO BaTr i

Insert Stem:
A. CFEICERT Wil ¢ wI<a Tgsmi 24f |

B. ‘(FEIERTW W@ Sl (F T I 3 |
C. ooe Srdiféedr (& TS TF < (SFIET v 183 |
D. itsE=l Fi%ai ¢ W= S |

Choose the correct answer from the options given below:

1. AandB Only
2. Band D Only
3. Band COnly
4. AandD Only

Options :

92090645961. 1
92090645962. 2
92090645963. 3
92090645964. 4

Question Number : 91 Question Id : 92090611640 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Insert Stem:
A. ‘BEe®Y CfOd’C ® ERFSMf Rews KBl

B. ‘HEe®Y ® THI THOFOT B EXFEMF RAOFR 5 I
C. TEI TTOOT @ EX8 REF ‘BEPTH NS5

D. RI°EFBT ERFE H&l kOO BaTr i

Insert Stem:
A. CFEICERT Wil ¢ wI<a Tgsmi 24f |

B. ‘(FEIERTW W@ Sl (F T I 3 |
C. ooe Srdiféedr (& TS TF < (SFIET v 183 |
D. itsE=l Fi%ai ¢ W= S |

Choose the correct answer from the options given below:

1. AandB Only
2. Band D Only
3. Band COnly
4. AandD Only

Options :

92090645961. 1
92090645962. 2
92090645963. 3
92090645964. 4

Question Number : 92 Question Id : 92090611641 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Insert Stem:
A. OAfERz o0 REWaBCT I
B. OAfwx om0 REEAEO RE I
C. OAfpRzm Tdde RFMFBCS I
D. Onfpea Tdde REEA3Q X5

Insert Stem:

A. FfZoMI g Aresma |

B. fEeMl 47 FeH TR |

C. oM SEPR eI |
D. feemi SEee AMeus] A2 |

Choose the correct answer from the options given below:

1. Aand COnly
2. AandBOnly
3. CandDOnly
4. AandDOnly

Options :

92090645965. 1
92090645966. 2
92090645967. 3
92090645968. 4

Question Number : 92 Question Id : 92090611641 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Insert Stem:
A. OAfERz o0 REWaBCT I
B. OAfwx om0 REEAEO RE I
C. OAfpRzm Tdde RFMFBCS I
D. Onfpea Tdde REEA3Q X5

Insert Stem:

A. FfZoMI g Aresma |

B. fEeMl 47 FeH TR |

C. oM SEPR eI |
D. feemi SEee AMeus] A2 |

Choose the correct answer from the options given below:

1. Aand COnly
2. AandBOnly
3. CandDOnly
4. AandDOnly

Options :

92090645965. 1
92090645966. 2
92090645967 3
92090645968. 4

Question Number : 92 Question Id : 92090611641 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Insert Stem:
A. OAfERz o0 REWaBCT I
B. OAfwx om0 REEAEO RE I
C. OAfpRzm Tdde RFMFBCS I
D. Onfpea Tdde REEA3Q X5

Insert Stem:

A. FfZoMI g Aresma |

B. fEeMl 47 FeH TR |

C. oM SEPR eI |
D. feemi SEee AMeus] A2 |

Choose the correct answer from the options given below:

1. Aand COnly
2. AandBOnly
3. CandDOnly
4. AandDOnly

Options :

92090645965. 1
92090645966. 2
92090645967. 3
92090645968. 4

Question Number : 93 Question Id : 92090611642 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Insert Stem:Crit.
A. 3 Tom TWSrRT Al JooH S°ER Kl
B. ®f wem Weafss Reem Fawse
C. ‘&f Rer weEs MY R W WSrRHT KBTI
D. Ure*I wkal @3l TR THC B T TER4M ofmdd i

Insert Stem:
A. b AT MEEEw 3

B. T @ «ferab 912 3 |
C. 3= aw o B @ eferabar 34 |
D. -t e 37 ol @21 b @ aferans] et |

Choose the correct answer from the options given below:

1. BandCOnly

2. AandBOnly

3. Aand COnly

4. AandDOnly
Options :

92090645969. 1
92090645970. 2
92090645971. 3
92090645972. 4

Question Number : 93 Question Id : 92090611642 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Insert Stem:Crit.
A. 3 Tom TWSrRT Al JooH S°ER Kl
B. ®f wem Weafss Reem Fawse
C. ‘&f Rer weEs MY R W WSrRHT KBTI
D. Ure*I wkal @3l TR THC B T TER4M ofmdd i

Insert Stem:
A. b AT MEEEw 3

B. T @ «ferab 912 3 |
C. 3= aw o B @ eferabar 34 |
D. -t e 37 ol @21 b @ aferans] et |

Choose the correct answer from the options given below:

1. BandCOnly

2. AandBOnly

3. Aand COnly

4. AandDOnly
Options :

92090645969. 1
92090645970. 2
92090645971. 3
92090645972. 4

Question Number : 93 Question Id : 92090611642 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Insert Stem:Crit.
A. 3 Tom TWSrRT Al JooH S°ER Kl
B. ®f wem Weafss Reem Fawse
C. ‘&f Rer weEs MY R W WSrRHT KBTI
D. Ure*I wkal @3l TR THC B T TER4M ofmdd i

Insert Stem:
A. b AT MEEEw 3

B. T @ «ferab 912 3 |
C. 3= aw o B @ eferabar 34 |
D. -t e 37 ol @21 b @ aferans] et |

Choose the correct answer from the options given below:

1. BandCOnly

2. AandBOnly

3. Aand COnly

4. AandDOnly
Options :

92090645969. 1
92090645970. 2
92090645971. 3
92090645972. 4

Question Number : 94 Question Id : 92090611643 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il

List | List Il
A. @8 OfIA BCIZHE . TORBT
B. RA°M3H RaSAH Il. 2ok O3 TF
C. MR M . &g °mmz
D. THPmEE WPEfCxREST Iv.  Bfehs OemSe
A oRE gy ceiegarE L SESE
B. dICZLI AR . SIS Wl AT
C. (FIeE P M. R
D. 25 CofRmr Iv. 4G ==
Choose the correct answer from the options given below:
1 A-ll B-ll C-I D-1IV
2 A-ll B-I C-1l D-IV
3. A-lll B-IvVv C-l D-I
4 A -l B-I C-1li D-1V

Options :

92090645973. 1
92090645974. 2
92090645975. 3
92090645976. 4

Question Number : 94 Question Id : 92090611643 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il

List | List Il
A. @B OFDA BCLCHE . TOBHT
B. RAMZH RasaH Il. 2Ok O3 3F
C. DWZF MaQSH . &F Cmms
D. THPmSE WPEfexRar V.  Bfehs OETmSE
A oRE ey ceiegarE I SESRT
B. LT TKAEN . SIS ST A=
C. CFIeE Py M. R
D. <25 CofRemry Iv. 46 ==
Choose the correct answer from the options given below:
1 A-ll B-l C-1 D-IV
2 A=l B-f C-li D=V
3. A<l B-IV C-1l D-I
4 A-ll B-I c-1l D-1V

Options :

92090645973. 1
92090645974. 2
92090645975. 3
92090645976. 4

Question Number : 94 Question Id : 92090611643 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il

List | List Il
A. @B OFDA BCLCHE . TOBHT
B. RAMZH RasaH Il. 2Ok O3 3F
C. DWZF MaQSH . &F Cmms
D. THPmSE WPEfexRar V.  Bfehs OETmSE
A oRE ey ceiegarE I SR
B. LT TKAEN . SIS ST A=
C. CFIeE Py M. R
D. <25 CofRemry Iv. 46 ==
Choose the correct answer from the options given below:
1 A-ll B-l C-1 D-IV
2 A=l B-f C-li D=V
3. A<l B-IV C-1l D-I
4 A-ll B-I c-1l D-1V

Options :

92090645973. 1
92090645974. 2
92090645975. 3
92090645976. 4

Question Number : 95 Question Id : 92090611644 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il

List | List It
A. TTTWF SOFX I QaTTPFE THOD B
B. MREAFER O I R RX% BXIAO KX
C. wemaf Ottes . TWRIIR 2%
D. REZAMMAE FATREH V. B0 QBT
A. SR CSISCH! I ScerE e
B. 7 #13] . e ACHR 3R JCHe
C. g FErEar N, SO AR
D. YN gEHI™ V. DI

Choose the correct answer from the options given below:

1. A-IV B-I c-11 D-1I
2. A-IV B-1ll C-1I D-1
3. A-IV B-1Ill C-Ill D-I
4, A-Iv B-ll C-lIl D-I
Options :

92090645977. 1
92090645978. 2
92090645979. 3
92090645980. 4

Question Number : 95 Question Id : 92090611644 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List 1

List | List It
A. TTTWF SOFX I QAfTFE THOD B
B. MEAFER O Il R R BIIAO KX
C. ¥opaf 2wy .  TREmm 2%
D. REZAMMF FLTREH V. B0 OFW
A, SCARFHT CSISCHT I ScerE e
B. 7 #13] . e ACHR BT ACH.
C. g FEEal N, S AR
D. YHRFAY gEHI™ V. PICEH

Choose the correct answer from the options given below:

1. A-IV B-I c-1l D-1I
2. A-IV B-1Il C-1I D-11
3. A-IV B-1Ill C-1Ill D-I
4. A-Iv B-ll C-lIl D-I
Options :

92090645977. 1
92090645978. 2
92090645979. 3
92090645980. 4

Question Number : 95 Question Id : 92090611644 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il

List | List It
A. TTTWF SOFX I QaTTPFE THOD B
B. MREAFER O I R RX% BXIAO KX
C. wemaf Ottes . TWRIIR 2%
D. REZAMMAE FATREH V. B0 QBT
A. SR CSISCH! I ScerE e
B. 7 #13] . e ACHR 3R JCHe
C. g FErEar N, SO AR
D. YN gEHI™ V. DI

Choose the correct answer from the options given below:

1. A-IV B-I c-11 D-1I
2. A-IV B-1ll C-1I D-1
3. A-IV B-1Ill C-Ill D-I
4, A-Iv B-ll C-lIl D-I
Options :

92090645977. 1
92090645978. 2
92090645979. 3
92090645980. 4

Question Number : 96 Question Id : 92090611645 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List I

List | List II
A, Tfmz? T [v)2))

B. ERm .  oeafer
¢ wEE n.  @ofm

D tl}:m““w V.  Ramen
A. et L e

B. @dIe n. e
C. ¥ m. (i
D. S0e™ Iv. WY

Choose the correct answer from the options given below:

1. A-ll B-1ll C-I D-1IV
2. A-ll B-ll C-Iv D-I

A-ll B-I C-Iv D-I
4, A-ll B-I C-li D-Iv
Options :

92090645981. 1
92090645982. 2
92090645983. 3
92090645984. 4

Question Number : 96 Question Id : 92090611645 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List 1l

List | List 11
A. Cfma . HORW
B. @Rm .  Oeafen
C wEE . wofm
D. tl}:m““r-r V.  Ramen
A, et (R S il
B. @dIe n. e
C. 2 m. (I
D. Se™ Iv. Yo

Choose the correct answer from the options given below:

% A-Il. B-ll C-I D-1V
2. A-lIl. B-ll C-IVv D-lI
3. A-Il B-I C-Iv D-l
4. A-IIl B-lI C-1l D-1IVv

Options :

92090645981. 1
92090645982. 2
92090645983. 3
92090645984. 4

Question Number : 96 Question Id : 92090611645 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List I

List | List II
A, Tfmz? T [v)2))

B. ERm .  oeafer
¢ wEE n.  @ofm

D tl}:m““w V.  Ramen
A. et L e

B. @dIe n. e
C. ¥ m. (i
D. S0e™ Iv. WY

Choose the correct answer from the options given below:

1. A-ll B-1ll C-I D-1IV
2. A-ll B-ll C-Iv D-I

A-ll B-I C-Iv D-I
4, A-ll B-I C-li D-Iv
Options :

92090645981. 1
92090645982. 2
92090645983. 3
92090645984. 4

Question Number : 97 Question Id : 92090611646 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List 11

List | List I
A. ATOWSTET F°2°K . Ruery
B. @ B°@% . zfe #ede
C. AR Boe°x . mRrdnt 3
D. ES@ B°T°W IV. A¥E BT
A. faEfare M . STENCER
B. oS (4o N i v
C. 2MA2F @M N,  FRECN (o
D. Gl A AR 12\ o)

Choose the correct answer from the options given below:

1. A-ll B-IvV C-I D -1l
2 A-1ll B-I C-ili D-1IV
3. A-lIl B-I c-iv D-Il
4, A-ll B-Iv C-lll D-I
Options :

92090645985. 1
92090645986. 2
92090645987. 3
92090645988. 4

Question Number : 97 Question Id : 92090611646 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il

List | List I
A. AfOBSIET F°2°R . RBePI
B. @I B°@% . zfe merde
C. ATEPHI Boe°x .  @RTdn dag
D. ES@ ¥°@°® V. AYE BT
A. fwfare M . BIEAEE
B. oS (M ([ = P E
C. 2NATF @M N LN oL
D. CFRI @™ V. 206 PR

Choose the correct answer from the options given below:

1. A-ll B-IV C-I D -1l
2: A-ll B-1I C-1ll D-IV
3. A-Il B-I c-iv D-INl
4, A-ll B-Iv C-Ill D-I
Options :

92090645985. 1
92090645986. 2
92090645987. 3
92090645988. 4

Question Number : 97 Question Id : 92090611646 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List 11

List | List I
A. ATOWSTET F°2°K . Ruery
B. @ B°@% . zfe #ede
C. AR Boe°x . mRrdnt 3
D. ES@ B°T°W IV. A¥E BT
A. faEfare M . STENCER
B. oS (4o N i v
C. 2MA2F @M N,  FRECN (o
D. Gl A AR 12\ o)

Choose the correct answer from the options given below:

1. A-ll B-IvV C-I D -1l
2 A-1ll B-I C-ili D-1IV
3. A-lIl B-I c-iv D-Il
4, A-ll B-Iv C-lll D-I
Options :

92090645985. 1
92090645986. 2
92090645987. 3
92090645988. 4

Question Number : 98 Question Id : 92090611647 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il

List | List 11
A. TN . TINTE PHOT) TC-TOMIE°TFT ORI
B. Il TMegegse] PRS0 TE-TWOMIaTsoT ORI
C. R H. 312 IPHEOS°0 TE-TOM TR QTN
D. @ IV.  BRSERIT RO TC-TOMMTT ORPM
Ao . SRTSSEE (SIS S-St CBre
B. © . (CIEes (IR0 S-SPIPItaren (317
C ¥ M. CSoTH COIZAED SH-SPR0eT (81
D. ¥ IV. RN (SR SH-SPICaTey CBr%f
Choose the correct answer from the options given below:
8 A-IV B-I C-m D-ll
2 A-IV B-I C-1Il D-1
3. A-IV B-Il C-1 D-1l
4 A-IVv B-1l. C-lll D-I
Options :

92090645989. 1
92090645990. 2
92090645991. 3
92090645992. 4

Question Number : 98 Question Id : 92090611647 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il

List | List 11

AT . TINfT2Se PHEOSC TC-TOMIAeTHeT O
B. I TMegeFwe PRI TE-TOMaFeeqm ORI
C. X N, 512 PHOS°0) TE-TOMIEP°TR O

D. @ IV.  BREFRET IRHEMI0 TEC-TOMITH ORI
A 4 . SETSSEIR CSIZAE SH-S=aren (BT

B. © . CTETCoe COTSATE S-SPiPItaren (317
C. & N, CSETR COIRNTER S-S PTATew (3191

D. ¥ IV.  JISCERCHE CSRATE SH-SHE0eT (B

Choose the correct answer from the options given below:

i A-IV B-I C-mt D-1
2 A-IV B-I C-il D-1
3. A-IV B-Il C-1 D-1l
4 A-IVv B-Ill C-lll D-I
Options :

92090645989. 1
92090645990. 2
92090645991. 3
92090645992. 4

Question Number : 98 Question Id : 92090611647 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il

List | List 11
A. TN . TINTE PHOT) TC-TOMIE°TFT ORI
B. Il TMegegse] PRS0 TE-TWOMIaTsoT ORI
C. R H. 312 IPHEOS°0 TE-TOM TR QTN
D. @ IV.  BRSERIT RO TC-TOMMTT ORPM
Ao . SRTSSEE (SIS S-St CBre
B. © . (CIEes (IR0 S-SPIPItaren (317
C ¥ M. CSoTH COIZAED SH-SPR0eT (81
D. ¥ IV. RN (SR SH-SPICaTey CBr%f
Choose the correct answer from the options given below:
8 A-IV B-I C-m D-ll
2 A-IV B-I C-1Il D-1
3. A-IV B-Il C-1 D-1l
4 A-IVv B-1l. C-lll D-I
Options :

92090645989. 1
92090645990. 2
92090645991. 3
92090645992. 4

Question Number : 99 Question Id : 92090611648 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List I

List | List 11
A. Ta® waae . sgee
B. TOe B T°m mfE Il. sgee
C. Tre R |3 H.  S8%8m
D. E°7ePE W° BCZA0 IV. sge¢
A, SISy L S5
B. SNED P 4F e I OE
C. ©I~ 9= 5= 1l. REICIV
D. (=& (F 4152 V. Sabb

Choose the correct answer from the options given below:

1. A-1I B-lI C-Iv D-lli
2 A-1Il B-ll C-I D-IV
3. A-ll B-IVv C-ll D-I
4 A-1l  B-lI C-ll D-IV
Options :

92090645993. 1
92090645994. 2
92090645995. 3
92090645996. 4

Question Number : 99 Question Id : 92090611648 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List I

List | List 11
A. Ta° waae . seee
B. TOa B T°m mfE Il. sgee
C. @ee RS w3 . sees
D. E°7ePE W° B8R0 IV. sge¢
A ST YL Y
B. S FT4F e I OHES
C. TICA I e 1l. RSICIV
D. (=& (F 4152 V. Yabb

Choose the correct answer from the options given below:

1. A-1I B-I C-iv D-lli
2 A-Il B-ll C-I D-1IV
3. A-Il B-IV C-ll D-I
4 A-lIl B-I C-lll D-IV
Options :

92090645993. 1
92090645994. 2
92090645995. 3
92090645996. 4

Question Number : 99 Question Id : 92090611648 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List I

List | List 11
A. Ta® waae . sgee
B. TOe B T°m mfE Il. sgee
C. Tre R |3 H.  S8%8m
D. E°7ePE W° BCZA0 IV. sge¢
A, SISy L S5
B. SNED P 4F e I OE
C. ©I~ 9= 5= 1l. REICIV
D. (=& (F 4152 V. Sabb

Choose the correct answer from the options given below:

1. A-1I B-lI C-Iv D-lli
2 A-1Il B-ll C-I D-IV
3. A-ll B-IVv C-ll D-I
4 A-1l  B-lI C-ll D-IV
Options :

92090645993. 1
92090645994. 2
92090645995. 3
92090645996. 4

Question Number : 100 Question Id : 92090611649 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il

List | List II
A, TREM . MEHEMVREIN RP5eT
B. @ OmaO Il OfERmPRRm RaeI
C. ONfT FAOT H. & BBEMO TE 7 ETHI
D. weenf Tare IV. R¥E RCH°I'® TE BT Sf3aera
A. o7 I e cawe
B. (TSIEM™ 0. FHCEeCRes e
C. fB=IbrEW . 7 513907 €% ¥ (FIFre
D. <% S V. 6% 30 oF (% erapd

Choose the correct answer from the options given below:

1. A-1I B-I C-ll D-IV
2. A-Il B-Iv C-ll D-I
3. A-Il B-I C-1Iv D-l
4. A-Il. B-ll C-lI D-1IV
Options :

92090645997. 1
92090645998. 2
92090645999. 3
92090646000. 4

Question Number : 100 Question Id : 92090611649 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il

List | List II
A, TREM . MEHEMVREIN RP5eT
B. @ OmaO Il OfERmPRRm RaeI
C. ONfT FAOT H. & BBEMO TE 7 ETHI
D. weenf Tare IV. R¥E RCH°I'® TE BT Sf3aera
A. o7 I e cawe
B. (TSIEM™ 0. FHCEeCRes e
C. fB=IbrEW . 7 513907 €% ¥ (FIFre
D. 9% & V. (B e €% (TR FTerand

Choose the correct answer from the options given below:

1. A-1Il B-I C-1ll D-IV
2. A-Il B-Iv C-ll D-I
3. A-Il B-I C-Iv D-1
4. A-Il. B-ll C-lI D-1IV
Options :

92090645997. 1
92090645998. 2
92090645999. 3
92090646000. 4

Question Number : 100 Question Id : 92090611649 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il

List | List II
A, TREM . MEHEMVREIN RP5eT
B. @ OmaO Il OfERmPRRm RaeI
C. ONfT FAOT H. & BBEMO TE 7 ETHI
D. weenf Tare IV. R¥E RCH°I'® TE BT Sf3aera
A. o7 I e cawe
B. (TSIEM™ 0. FHCEeCRes e
C. fB=IbrEW . 7 513907 €% ¥ (FIFre
D. 9% & V. (B e €% (TR FTerand

Choose the correct answer from the options given below:

1. A-1I B-I
2. A-Il B-IV
3. A-Il B-I
4. A-11  B-Il
Options :

92090645997. 1
92090645998. 2
92090645999. 3
92090646000. 4

C-1Hi
C-1l
C-Iv
C-1

D-1Iv
D-I

D-1
D-1v




